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{8 The directors of XYZ Limited invited applications for 2,00,000 equity shares of Rs.10
cach to be issued at 20% premium. The money payable on issue of shares is as follows:

On application Rs.5, on allotment Rs.4 (including premium of Rs. 2), first call Rs. 2 and
final call of Rs.1 per share.

Applications were received for 2,40,000 shares and allotment was made as follows:
(1) To applicant for 1,00,000 shares - in full;

(2) To applicants for 80,000 shares- 60,000 shares; and

(3) To applicants for 60,000 shares - 40,000 shares

Applicants for 1,000 shares falling in category (1) and applicant for 1,200 shares falling
in category (2) failed to pay allotment money. These shares were forfeited on failure to

P.T.O
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2

pay the first call. Holders of 1,200 shares failing i category (3) faileg
final call and these shares were forfeited afier final cajj (0 pay the first -
1,000 shares of cate:gory (1) and 300 shares of Category (2) were e,
pershare as fully paid. Prepare Cash Book and make Journal entries Show yo .

) ur notes,

xvz s & R A SEF 10 T & 2,00000 3R 921 3 fre 20
A | S B & AU e HElEa fauy IR & 59 W &7 7 =7 g

240,000 9RRT & T HTAEA e U 3 3nTdea Uy ——
(1) 1,00,000 ¥RT & eI 3rdeew - qof &9 @,
(2) 80,000 AT & T HAGEHT F- 60,000 MN; 3R

(3) 60,000 FRT & AT At & fAT - 40,000 PR
Aofr (1) 7 T arel 1,000 RRE F fAw 3maesh AR Ao (2) F 31y arer 1200 St

farw 3mdes des TR HT $ETAT Feel H A% W@ 37 NI #r ggelr Far &7
SITAIT e H fAwheldl gl W Sfedd &Y forT a1 Ay Aol (3) 7 srywer @y arey
1,200 ART & GRS Ggell AR HAH AT H7 3T WA F @b @ 3R 37 b
Y 3 A= & 91 STed H fordr A7)
Aot (1)& 1,000 AR 3T A0 (2) F 300 MR 8 TG yfey RR R 7 3P F F7
I A @ Sl e 1) Us @€ IR AIfST aur see afafSeat fifdwl e Aew
it fear|

OR

al

(A) What are the conditions to be satisfied for the redemption of preference shares? (8)

G MR & Hieger & AT Fgee gl & 47 A &7



657

(B)

3

What are the conditions to be fulfilled by the company before it can PICTAEE -
shares or other specified securitjes? ?

mmﬁammmaﬁqmﬂﬁmgmm@quﬁ
ST arelr ot /= B

Following are the balances from the accounts of Brij Mohan Ltd as appeared on 31.03.2021

Credit Balances Amount | Debit Balances Amount
Rs Rs

Share Capital (10000

Shares) 40,00,000 | Land and Building 30,72,000

12% Debentures 30,00,000 | Plant and Machineries 33,00,000

Profit and loss 4,00,000 | Stock 7,50,000

Bills Payable 3,70,000 | Debtors 8,70,000

Creditors 4,00,000 | Goodwill 2,50,000

Sales 41,50,000 | Cash and Bank 5,44,000

General Reserve 2,50,000 | Calls in arrear 75,000

Bad Debts Provision on

01.04.2020 35,000 | Interim Dividend paid 3,92,500
Purchases 18,50,000
Preliminary Expenses 50,000
Wages 9,79,800
General Expenses 68,350
Salaries 2,02,250
Bad Debts 21,100
Debenture interest paid 1,80,000

1,26,05,000 1,26,05,000

Additional Information:
(1) Depreciate plant by 15%.

(2) Write off Rs. 5,000 from preliminary expenses.

(3) Half years' debenture interest is due.

(4) Create 5% provision on debtors for doubtful debts.

(5) Provide for income tax @ 50%.

(6) Stock on 31" March, 2021 was 9,50,000.

(7) A claim of 25,000 for workmen compensation is being disputed by the

company.

P.T.O
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dividend. T

sent of Profit and loss and a Balance sheet of
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1-3-2021. Also show notes (o accounts
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(1) T T 15% T Heag Ao

(2) IRAF @ | 5,000 v 7 @ # 37|

(3) 3 W T B sarer 27 B

(4) iy RO F AT e T 5% W&y gl

(5) 50% T X F TR H F@AHT HfATI

(6) 31 #TH, 2021 HI Eid 9,50,000 AT

(7) F C@RT FFIRT & A F AT 25,000 F arar RFared &l

(S)ﬁﬁmmrmwdﬁmlz%mmrmﬁa
e FATT RS & T 4,500] HIARE RN d R &I
US|

ST 3R gy 7 faeRer 3R Se i vE ded e AR wifse S
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1

following trial balance has been CXlracted fron
llq] March 2021. You are required to Prepare:
ason s

1 the bookg of Mata

(i) Profit and loss statement for the year endeq o March 31, 2021; and
1 ’

(ii) Balance sheet as on that date

Rani Ltq,

Debit < in ‘000, if any) WM
(currency figures are in ! ! e ‘Oggq__'gao, ; (;};wt)g,'trres are in .10
—2 YUY |
ilding (original cost Rs.
;,S':g{l] g;ld Building (orig 14,000 | Share Canitat _—
Furniture (original cost Rs.1,500) 800 | General Reserve 3,000
Plant and Machinery (original cost
Rs.20,000) 10,000 | 4% Debentures | 10,000
Stock (31.3.2021) 12,800 | Bank Overdraft 150
Salastes 800 | Sundry Creditors ] 1,600
Printing and Stationery 120 Security Premium 1,000
Debtors 7,000 Debenture Redemption
Investments (at cost) 600 | Reserve 4,000
Cash on hand 200 | Gross Profit 10,400
LAdvaucc Income Tax 800 | Surplus Account 850
| Prclilniniq}/_liﬁpguscs 400
_C_iﬁl_lﬂ_.%‘_l:_hgt_igcd Banks 2,400
Interest 200
Debenture Interest 400
Director's Fees 200
Rent, Ratesete. 280
e 51,000
L -
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Additiona) in{‘ornmtion;

(S?_Tls)cprc?imio“ 15 10 be provided for (he year as: (a) Land and building at 5%
 basis (b) fumiture gy plant and machinery at 10% on W.D.V. basis.

(ii) Debtors worth
debtors worth Rs.
made,

Rs. 60,00,000 arc less than 6 months old. Out o.f !hc r-cmait""mg
5,00,000 are considered bad for which full provision 18 e

(iii) The authorised share capital consists of 10,00,000 equity shares of Rs. 100

each of which 4,00,000 shares are issued and Rs.50 per share are called and paid
up.

(iv) Provide for: (i) Audit Fees Rs. 2,50,000; (ji) Provision for income tax Rs.
24,00,000.

(v) Insurance is prepaid to the extent of Rs. 80,000.

31%2021$Tmuﬁfaﬁégaﬁr§$aﬁmﬁﬁﬁmm
foeTer T &1 3mger PefafRa a3 g

(i) 31 A, 2021 & FATT a¥ F AT amer 3R @fer f&aror; 3R
(ii) 39 dG & doiF M

3T (7A@ & w3 000, A ST (T & 3T
grad) '000, M FIS & §)
Rs. ‘000 Rs. ‘000
A 3R sE (FF 9FE ® AT i
30,000)
14,000 20,000
FATR (A HHT 1,500 F93) SR R
800 3,000 "
o 3R A (FF dEE 4% TEEm -
20,000 ¥93)
10,000 10,000
i (31.32021) d% ez
12,800 150
a5a fafdwr deer
800 1,600

Radsey
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1 8 wuad
RRASEE _ 201 0
R RAW dswm |
pp 7,000
e Rord
- q
- (aﬂﬁ::)f 600 i 400
[”"'%7% JHI NN
e 200 10,400
T RN wrar
SR 800 §30
s 4
o)
qrufAs 400
'_'_'__._.___—-_—-T—_
a7 a9
g 2,400
=7
200
EEEIESIE]
400
e & BF
200
farma, &t anfel
280
51,000
51,000
sfafEa Se:

() T & AU Argr g9 SR SEe R S B
(A)3% THERTE TR o oy 3R 1 (3) Sewidl SMUR ¥ welfery 3 W

IR e | 109

(ii) 60,00,000 ¥4 & R 6 7R A oy R E1 A R A A E 500000 w
3R 71 121 ¥ Forerds e qof sy R st B
(i) SR % i 3 100 T 3 10,00,000 R A & Y A IR
400,000 AT g3 BRT ST & 3 50 T 9y oy A R st A

e e s
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() PEatatas & Waths ey

1y A aliey Wew 8 250000
() 3T & 1Ry wreryy )
() 80,000 ¥ 1 fy gy

24,00 b0
o @ oz 3y

3 (A) From the follow

, _ Ing comparative Balance sheet of Madurai Lid. and addstions!
nformation, prepar

¢ a Cash Flow Statement for the year 2021

Particulars MNote : 2020 | 2023
No. | Rs. | B>
1 | EQUITY AND LIABILITIFS ~j
1. Shareholder's Funds { o .
(a) | Share Capital 70,000 E 20,000 |
(b) | Reserve and Surplus ' ﬂ
Securities Premium 9,000 | 11,000 |
Retained Eamnings 23,820 | 30,520 |
2. Non-Current Liabilities ,‘
(a) {
Long term Borrowings (7% Mortgage Laon) 20,000 |
3. Current Liabilities ,
(a) | Trade Payables (Creditors) 6,900 6,000
(b)
Other Current Liabilities (o/s Salaries) 2 000 1,400
(c) | Short term Provisions
(Provision for Taxation) 1,000 1.400
Total 1,12,720 | 1,530,620
11 | ASSETS
1. Non-Current Assets
(a) | Fixed Assets (Tangible):
Plant & Machinery 62,000 | 68,000
Accumulated Deprecintion ~37.000 ~3_o':2'i'.i5"
Juildings 95,000 | 1,16,000
Accumulated Depreciation 3,000 | 5,000

P.T.O
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e ———

Land AL A 10,000 | 12,0001
2. Current Assets
(a) [ Inventories (Stock-in-trade) 10,220 | 9,620
(5) | Trade Receivables (Debiors) = e T
(c) 33

Cash and Cash Equivalents (Bank) 6,180 | 9,800
@ '

Other Current Assets (Prepaid Expenses) 720 800

Total 1,12,720 | 1,50,620

Additional information:

(1) Plant costing Rs.16,000 (accumulated depreciation Rs, 14,800) was sold during the

year for Rs.1,000.

(ii) Building was acquired during the yearat a cost of Rs.2] , 000. In addition to cash

payment of Rs.1,000, a 7% mortgage loan was raised for the balance.

(iii). Dividend of Rs. 8,000 was paid during the year,

(1v) A sum of Rs.13,900 was transferred to provision for taxation account in 2021 (15)

3. (A;@mﬁﬁmﬁﬁa@mm e R sfaRea sy @ af 2021 &

fore & vt Rede &R AT

faazor AT | 2020 2021
¥ (v A
1 | 353 sk 2aar
1. dTuRw ffer
(a) R 93
70,000 | 80,000
®) | e 3k sifny
afasfa Ay
000
P . 8 9,000 ___I_!_x__...
sfatia s
- 23,820 | 30,820
2 A -
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S

(n) L — __—.—__._______________...-_
o 3EfYy ¥
3. T " YR (1% AR 7o) | 20000
@) | =R 47 (e —t 1 |
6,900 | 6,000
®) | 3= — BNEE ©e
3 TAAT e (3iow AT
= o 2,000 1,400
Hoqaliaa
S AEUH(FTUTH & fow graur)
Fel
1,000 | 1400
SR ¢ (ATER)
' 1,12,720 | 1,50,620
11 | aRafeaar
1. 1T HE giEgRTTT
@) | 3 dufcaar (F3d):
T B
62,000 | 66,000
i Aederd
-37,000 | -26,200
ARG
95,000 | 1,16,000
qiad Aederd
-43,000 | -45,000
AT
10,000 | 12,000
2. a&aART gfraafeaar
(a) | s=dedl (TTH-34-¢3)
10,220 9,620
(b) | zzor o= (EFER)
8,600 7,600
© | e 3tk e THFET (3F)
6,180 9,800
@) | 30 adae dafcaar (W95 =3)
720 800
Tl
1,12/720 | 1,50,620

P.T.O
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Hicisa

(= & 2 16000 T (VN TR Sy 14.800) 8 ST arer e

ek o5 257 74T
1.000 ¥94 A &dl

@) as F aaa 21,00 T H AR { Wﬂﬁhﬂaﬂr%mﬂmm 1,000
A - )
m%.m—wmm,wm*%?%mmmmwm

(i) 3% & < 8,000 m*mrmﬁm%mmm

(iv) 2021 (15) & S Td & T&GE F AT 13900 w2y A IR graiahy
Fras
OR

211

(A) Following are the balance sheets of Surya Ltd as on 31 March 2020 and 2021

2020 2021 2020 2021
Equirty and
Liabilities Rs. Rs. | Assets Rs. Rs.
Equity Share
Capital 30,00,000 [ 35,00,000 | Goodwill 1,00,000 | 95,000
Security Premium 4,00,000 | Building 19,00,000 | 18,00,000
Reserves 1,50,000 2,10,000 | Machinery 13,00,000 | 21,50,000
Current
10% Debentures 7,60,000 3,75,000 | Assets 20,10,000 | 20,00,000
Preliminary
Current Liabilities | 9,60,000 |  8,70,000 | Expenses 10,000 NIL
Proposed Dividend | 3,00,000 4,90,000
Provision for tax 1,50,000 2,00,000
§3,20,000 | 60,45,000 53,20,000 | 60,45,000
b 1]

Additional information
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1. The debenture ;
ICTes!t paig during 1 ]
2. At the beginning of € e year is Rs. 37.500.

the y )
sold for Rs. 1,8 0,000 "®ar a machine with written-down value of Rs. 2.20,000 was

Calculate the cash
SefieTaled by operating activities (CFOA) 2s px AS 3 (Revised) (10)

(A)31 AT 2020 31T 2 =
2021 Fr I RiREs & 38w e F=wiea o

sieadl 3R 2war 2020 2021 : 2020 2021
sfEadr Qa9 i
o qi= r]
30,00,000 35.00,000 | 1.00.,000 25,000 |
ufersifa Sifas — :
4,00,000 | 19,00.000 | 18.,00.00Q0
SL AxiiE I;
1,50,000 2.10,000 | 13.00.000 | 21,50.000
10% 3o TaA=
Ee it
7.60,000 3,75,000 20.10,000 | 20,00.000
A Seenar graRs 89
9,60,000 $,70,000 10,000 =
graiiad ST
3,00,000 490,000
FT B TG
1,50,000 2,00,000
53,20,000 | 60,45,000 53,20,000 | 60,45,000

L a&%zﬁnﬁgvﬁnﬁmﬂmmma 37,500

2. a&ﬁamﬁlmmomﬂﬂfﬂmﬁmﬁﬁ 1.50,000 IIX F =W

=1

TS 2

P.T.O
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g1

() v HREH A, U R AW % Suked 5 ¥ uiy

AR W B mmaﬁamaﬁ‘%l_mwﬁ%
2 frg fomr @ fe e T w5 @ S s
WET " A 8.0,000 @ 3R 10,000 ©c! 80,000
mﬁﬁﬂﬁrﬁélsmdw S e & Ueh hael
& HRY I B MY IR ® 5,000 T AE I A D

fFr v i af & @ & GEY ¥ °N GRdas

JeaIeT 40,000 THTA 1 o1, TR ¥ 30,000 T
FN T FRO 1 RATewT R W, 98 9@ @
AT NEEE FH 60% WYY AT H HRT
maﬁ?ﬁqmmmq%%fﬁ?ﬁﬁmmlm
AN @A) A HF FEINT IIRTT & 1Y Sl HEER
AT ? - -
JuRg & aged, JEEwe IR AN &1 v
EAlE |

4. From the following data relating to a manufacturing
company ‘New Wave Ltd., you are required to
compute the cost of productlon (Usmg New. Cost

Accounting Standards) :
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The Balanee §
1ce Sheet of
of'X 1
ll
<on the dat of absorption was s follows:

| PARTICULARS e

EQUITY AND LiABjjj T =

i

‘,___,_.__-.__,-.----

1. Sharcholder's Fung
20,000 Equi |
quity Sh W

Ares of 100 eac : ;
(5) Reserve ond Sl cach fully paid I o
X__/’——___._—————"—"
E"“"'m' Resefol 350,000
— R o v
ebenture Slﬂklng Rod 1,25,000
b R S S
Workmen Compensation Fund 50,000
2.Non Current Liabilifjes |
_ P o et
(a) Long term BOl‘l’owmgs (12% Debentures) 14,00,000
_’_______ -_____'____.—l——'_.__
(b)Long term Provision
ke 0y ([ ——
Staff Provident Fund 1,50,000
I | SO il
Employees Profit Sharing Fund 1,25,000
I .. o it
3.Current Liabilities
I S—
(a)Trade Payables (Creditors) 1,40,000
I i isiic?
TOTAL 43,40,000
|
ASSETS
—

1.Non Current Assets
(a) Fixed Assets (including Goodwill Rs.4,00,000)

| Dt e
36,00,000

(b)Non Current Investment (Sinking Fund [nvestment) 1,25,000

2.Current Assets
(a)hwentories(Stock) 2,00,000
(b)Trade Receivables(Debtors) 3,85,000
Ws (Bank) 30,000
43,40,000

TOTAL

worker was admitted by X Ltd but not recorded in the books. You

A claim of 11,000 by2 4
nts to close the books of X Ltd and give

are required to make necessary ledger accou
opening entries i the books of Y Ltd.

P.T.O

2 all
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4 \ RN @) iRl fveen ane el e Y iIQtnee gary Mavites 3y

o R
@000 YR @@ B TRIIFT B /IS 30T g ;
(©) X fRfRs & RIS URE & AT 14,90,000 vy 3 15% R 3 @)

) X R A 0T 4 TG W& RAC 100 393 & v 1294 v
T 3R 100 TR & 5 A TR 3ERT Ty

() vww fRfRes A 20 T 9 W & sEraE v |
(F) 9RFATA H aRdidsd deTT §. 12,000

X oA &1 wiw i Y /s @ @lie 71w 56,000 30 & wme o R 2
B v RfAts & aem iR arta F 1/6 W 3Rt A1 x Bfves & g% 7 afw

10,000 T & AR ars fafAes & &7 A
FAEEE & AR w X fafaes & do die 389 v roy;

=R
Rs.
sfFad 3t egar
1. TATURSE FT G2
100%&:20,0005%&:‘411:{&313#:@%
few o
20,00,000
() fiord 3fit fty
Sd e
3,50,000
1,25,000
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._»—_i;i'{;'_‘-‘-._.-_.__._..;-_',__,... ~— .
i IR Ity g ;
2 T _soe0.
) Quafamw sur (12% R |
14,00,000
(8) YR wrauyy | 140000
T aifren iy
— 1,50,000
A T T Ay
L el 1,25,000
3TAA T
(A) SR 37 (e
1,40,000
o
43,40,000
.
1711 FT vaey
(A) 39T Hafed (4,00,000 ¥9 & AR @)
36,00,000
(B) Al Fie fader (Rifdr & faaw)
1,25,000
2. 90\ "@ufed
(A) T (FeTh)
2,00,000
(B) SR W= (&+1&R)
3,85,000
(C) A 3 e TAGE (d4F)
30,000
&ol
- 43,40,000

P.T.0; 2%
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The balance sheet of X Luias on 31 March 2021 was as follows

R
| ULARS e Rs
R D TIABILITIES =
[ 1. Shareholder's Fund
| (2)8,00010% preference Shares of 100 each f.uny paid 8.00.000
= 1,20,000 Equity Shares of 10 each fully paid 12,00,000
| (6) Reserve and Surplus
- M Profit and Loss (300000
| Securities Premium 1.80,000
] Capital Reserve 1.80,000
| 2.Non Current Liabilities

Unsecured Loan (From Managing Director) 2.00,000

" | 3.Current Liabilities

(a)Trade Payables (Creditors) 12.00,000

(b)Other Current Liabilities
Outstanding expenses( including Managers Commission

Rs.80.000) 2,80,000
TOTAL 32,40,000
I1 | ASSETS

1.Non Current Assets

(a) Fixed Assets: Tangible -Land and Building 4 4,00,000
-Plant and Machinery 8,00,000
-Furniture and Fixtures 40,000

(b) Intangibles: -Goodwill 2,00,000

2.Current Assets

(a)Inventories(Stock) 6,00,000

(b)Trade Receivables I

Debtors 8,00,000

| OUNA
Bills Receivable 2,00,000

e ———
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A ]

a e S
Clld Cash Equivalents (Bank B 20,000
urrent Assets(Prel i1ninu|'y,_|i\J!‘:'l':'fE&*“”""ﬁyF y |

—

__32,40,000

TOTAL

, o o
3 Eg::::{:ai‘zs are 1o be converted jnto 6, 00,000 ghares of Rs.2 cach and 90%
ende .
2. Dividend op cﬁ:ﬁ:{:ig ;1;2;3:::3:1;1;3.@5 1re in arrcars 1‘01'.3 yCzuf's and ”
preference shareholders agree to forgo their claim, in considcration of which
10% preference shares were converted into 11% preference S‘IIEII'CS. |
- Creditors agreeq to reduce their claim by 20% {or ponsidenation/of BELNE
. II\{;[S: 40,000 shares out of share surrcndcrcd.. _
' nagers and Managing Directors forgo their claims:
3. The assets were re-valued as under:
Reduce Goodwi) by Rs.2,00,000; Plant by Rs.2,
Rs.32,000;Debtors by Rs.1,40,000;Increase Land an
6. Reconstruction expenses paid Rs.40,000 . _ _
7. 2,000 13% Debentures of Rs.100 cach are issued for increasing working capital,
Give Journal entries and the Balance sheet after Reconstruction.

00,00;Furniture by
d Building to Rs.4,40,000.

31 AT 2021 F X fofAes 4 g ofic s9 yar A0

kT
Rs

gfaradr 3R agar

1. WRURF H F3
(A)8,000 10% FdaT X 100 FdF & T A F 1A

8,00,000

10 9 T F 1,20,000 sfFadr AW U R A ¥
f&T v

(8) R 3R Ry

12,00,000

P.T.O
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o atv wfer 9 3fae ey B o p
e (BOOO0O)
SO GRIGEL
-2 180000
Sfew Rod
_ 1,860,000
2.7 Fe ¢qdIv
SRR AT (T e )
2,00,000
3.3dA gad
(A) TR 27 (eeTeR1)
12,00,000
(B) 3T AAA AU
FHIT WY (FEUR AT A €. 80,000)
2,80,000
el
32.40,000
- _
11
151 e ufcaar
(A) 3raer Fufea: Hd-5fA 3R aa
e 4,00,000
a7 3R A=
8,00,000
FeileX g fhegw
40,000
B) . =g
I8} 3 2,00,000
2. 9aA gufed
A (¥eTah)
(A) Tl 6,00,000

(B) SR wfeaar
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~d

e 2\
i e Y et ®,00,000
MV
. AL 3,00,000
\ X
© s 5 A () 180,000
[ —— pr2Vy
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On 1™ June 2020 H Ltd acquired 17,500 shares of R8.10 each in 8 Ltd. The

Balance
Sheet'of H Ltd. and S Ltd. as at 31" March, 2021 aro as follows:

1O



22

—
HLq
] TICULARS - S— Rs | P
) ARTICUL JITIES ——Rs,)_ L
PAl IABII d (ks
--I- . UI'[‘Y AND L I MR\(\L
‘f ag Funt
;. sharcholderS [ Rs.10 cach fully paid __-N"““"-\________\
» ub Reserve and Surplus il ] 50,000
Ol Resere - Y7y
< Account_ ——00| 500
oo Surplus Account — 82 T oo 110,000 |
TITH "_"‘—'—L\’_N_U‘_ 1'35 000
| Tradc Payables - R
;Y00
| Bills Payable Sy | =5
T 30,000
ToTAL —— 1270000 545000
1| ASSETS S P I [
| 1.Non Current Assets s ] .|
| e
(a) Fixed Assets oo PO |
Land and Building w————-—-_____
Plant and Machinery WT
= 4,75,000 |
(c) Non-Current Investment
(Investment in shares of S Ltd) m—————____
2.Current Assets S e
(a)Inventories(Stock) 355,000 m
(b)Trade Receivables
L Debtors 2.90,000 130,000
Bills Receivable 7.500
(c) Cash and Cash Equivalents (Bank) 27,500 20,000
TOTAL 23,70,000 5,85,000

The following information is provided:

1. Balances a5 on1.4.2020:  General Reserve Rs.50,000

Profit and [ ogg Rs.45,000.

 Adividend of 129 wag paid by § Lsd. op 15" Sept., 2020 for the year 2019-

Rs.22 500
4. SLd. had

In invento

Price.

]239£1H Ld. crediteq the receipt of the dividend to its profit and loss. .
. accepted by § 1 yg, were all drawn by H Ltd., of which bills amounting to

were discounted by H Ltd.
Purchased goods from H L1d. for Rs.1,00,000, of which 50% were
Y on 31" March 2021. H Ltd. added 25% to cost to arrive at the sale

Deb .
edtors of H [ 14 Include an amount of Rs.50,000 due from S Ltd.
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STt 2020 7 1 Fafs

alancy Sheet of H 1.4d, and its Subsidiary § 14d. 25 2t 31 March

S 8 Rt o 1 o 3 17,500 e T ST

femam) 3131?,2021?1?5,\1%%%!#&% ﬂmgﬁzwm%

edfyr e —— ey — |
B | s 1 s |
.5 Rs.) | SLt J !
sfeFady 3ty &ugr
I
B T RO
1. PRURS &7 tz
(A0 39 & st dre iedms o g @ s
ferar arar
15,00,000 2.50,000
(B) & 3T sforely
Fd od
4,00,000 1,10,000
g @ar
220,000 1,35,000
3adAA qaT
AR EAaIRar
o ALY
2,50,000 60,000
&g fad
30,000
ET
3 23,70,000 5,85,000
o=
I Y e
1777 e TaH
(A) 31T Fufed
P
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1. 1.4.2020 #T AT & AR do: SToRA RS F. 50,000

2. ¥ 3R @Il €.45,000
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11 Ltd. acquired 2,400 equity shares in S [ 1. on 1.4.2021. The Balance Sheel of H Ltd. and its

subsidiary S Ltd. as at 31" March 2022 is as follows;

[ [pARTICULARS HLtd | ¢4 (Rs.)
(Rs.)
1 | EQUITY AND LIABILITIES
1. Shareholder's Fund
(a)12% Preference Shares Capital 2,00,000
Equity Shares Capital of
Rs.100 each fully paid 10,00,000 3,00,000
(b) Reserve and Surplus
General Reserve on 1.4.2020 6,80,000 12,000
Surplus Account 7,20,000 2,16,000
3.Current Liabilities
Trade Payables
Creditors 2,00,000 88,300
Bills Payable 48,300
TOTAL 28,00,000 6,64,600
I ASSETS
1.Non Current Assets
(a) Fixed Assets
Land 7,12,000 1,40,000
Properties 7,52,000 80,000
Plant and Mach:inery 2,80,000 1,80,000

P.T.O
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BT
(c) Non-Current Investment e e
i fSLud
~stment in shares © )
(Investment 1 3,60,000
N __-_-——_‘__--\-L
2.Current Asscts
”, 1 k
(n)lmcnloncs(s“‘c ) 2,72,000 1,03,800
—Teceivables (Debtors) o ———
(b)Trade Receivables ( 4,04.000 | 1,44.800
Squivalents (Bank) ——
() Cash and Cash Equivalents (Bank) 20,000 16,000
__-‘-"-'l-.__
TOTAL 28,00,000 6,64,600
=

Additional Information:

1. On14.2021, Profitand Loss of' S Ltd. stood at Rs. 1,55,000 and General Reserve a Rs.6000

2. Plant and Machinery of S Ltd. which stood at Rs. 2,00,000 op 1* April 2021 was re-va.]ucd :
at Rs.2,50,000 the time of purchase.

3. S Ltd. issued Bonus Shares in the ratio of two for every five shares held, out of pre-
acquisition profits, not recorded in the books. :

4. Stock of H Ltd., includes Rs.16,000 of stock purchased from § I_td. Furthier, débiors of
S Ltd. include Rs.48,000 for sales to H Ltd., on which S B madin ol SERA 12000
Prepare Consolidated Balance Sheet. ,UU0.

H faffes & 1.4.2021 F S RS # 2,400 398 FRT F71 3fvargor Remy 31 30
2022 7% H faffes 3K 36H Fgrw s RAffts & &89 ofe 39 wor &

Eu‘h'r H Ltd
(Rs) SLtd (Rs.)
I sfdady 3R ¢gar
1. RRYURS &7 F3

; (A)12% afraar A goir
2,00,000

sfaadl AT AT gl 100 39 9AF T
WE F 1=

10,00,000 3,00,000
(8) Rera 3w ifordy .
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. (@) Choose the correct option and write that correet optiop in full in answer

sheet. (1x3=3)

(1) Which of the following is true?

(a) Preference Shares can be issued with Differentia] Voting Rights
(DVRs).

(b) A company can convert the partly paid equity shares into fully

paid shares by way of bonus without asking them to pay anything,

(¢) In India unless otherwise stated, all Preference Shares are assumed
to be Non-Cumulative and Non- Participating.

(d) When bonus is declared by a listed company for the equity

sharcholders, the holders.of Convertible Debentures are also
entitled to the bonus shares.

(i) The Securities Premium Account may be applied by such class of
companies, as may be prescribed and whose financial statement comply

with the Accounting Standards prescribed for such class of companies
u/s 133: |

(a) To write off Premium Payable on redemption of Pref. Shares and

Debentures issued on Ist April, 2014 by a listed company.

(b) To write off Expenses and Commission on issue of Pref. Shares

and Debentures issued on 1st April, 2014-'by a listed company.
(c) To issue partly paid Bonus Shares to members.

(d) None of these

(ili) Which of the following is not true?

(a) “Stock Options Outstanding Account” appears under the head

“Reserves & Surplus” of Balance Sheet of a Company.
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(b) 10% of the value of Outstanding Debentures is required to be
transferred to Debentures Redemption Reserve by an Unlisted
company (other than NBFCs regd. with RBI and HFCs regd. with

National Housing Bank).

(¢) 15% of amount of Debentures maturing during the year ending
31st March of the next year is required to be Invested by a listed

company on or before 30™ April in cach ycar.

(d) 25% of the value of Outstanding Debentures is required to be
transferred to Debentures Redemption Reserve by a listed

company.

(b) Answer the following with very brief reason : (1x2=2)

(i) Can Shares be issued at a discount under any of the provisions of The

Companies Act, 2013?

(1) Can Secunties Premium be considered as free reserve under any of

the provisions of The Companies Act, 20137

(¢) AMLA & TULSI Ltd. (Listed) decides to redeem 13000, 15% Red. Pref.
Shares of T 100 ecach at a premium of 10%. [t has a General Reserve of ¥
9.20,000, Profit & Loss A/c balance of ¥ 7,10,000, a Securities Premium
of ¥ 2,25.000, Bank Balance of T 6,30,000 and Investments [Face value ¥
10,00.000] of ¥ 20,00,000. 40% of Investments are sold at 150%. It is
decided to issue 880, 15% Debentures of ¥ 100 cach at par and 100, 12%
Pref. Shares of 1100 each at a premium of 20% for the purpose of redemption
of Pref. Shares. The company has to maintain a minimum balance of

-?* 5.00.000 in Bank Account and of ¥ 5,00,000 in the Profit & Loss Account.

Required: Calculate the minimum number of equity shares of ¥ 10 each

to be issued at 25% premium for the purpose of redemption of Pref.
Shares. (5)
PT.O,
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(d) ALOE VERA & TULSI Lud

(a)

4
(Listed) decided to issue 12,50,000 Equity
Shares of ¥ 10 cach at a premium of ¥ 10 payable 2 6 (including 7 3

premium) on application and ¥ 4 (including T 2 premium) on allotment and

which 20% issued to the promoters and the

the balance on call. Out of
red to the public. 90% of the public issue was underwritten by

balance offe
X, Y, and Z as follows :

X — 4,50,000 shares (Firm underwriting 20,000 shares)
Y — 2,70,000 shares (Firm underwriting 30,000 shares)

7 — 1,80,000 shares (Firm underwriting 50,000 shares)

Applications were received for 6,20,000 shares, of which marked applications

(excluding firm underwriting) were as follows :
X 58,000 Shares, Z 1,76,000 Shares, Y 1,86,000 Shares

The benefit of firm underwriting is to be given to an individual underwriter

on the basis of his individual firm underwriting.

Required: Calculate the Total Liability (in terms of number of shares) of
each Underwriter. (5)

OR ALTERNATIVE QUESTION

On 31st March, 2022, the paid up capital of OM Ltd. (Listed) is ¥ 9,00,000
consisting of 60,000 Equity Shares of ¥ 10 each fully paid up and 40,000
Equity Shares of ¥ 10 each, ¥ 7.50 per share paid up. The company also
has 7500,12% Partly Convertible Debentures of ¥ 100 each [20% of these
Debentures are convertible into equity shares of ¥ 10 each at T 15 each on
Ist July 2022]. On Ist April, 2022, the Company made final call on Equity
shares and received the same on 30th April, 2022. On Ist May, 2022, the
Company decided to issue bonus shares to equity shareholders at the rate

of 2 shares for every 5 shares held.

(3)

Regquired: Calculate the Total amount of Bonus Issue.

P
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{h)

(c)

i
On 31at Mareh, 2022, GILOY & TULSH Lid, (Liated) has Equity Shares of
10 each fully paid € 330 Crore, 10% Red Pref. Shares of 7 100 rach fully
patd 270 Crore , Securitios Preminm X 90 Crore, Genetal Keserve T 240
Crore, Profit and Loss A'c T 20 Crore, Capital Redempiion Rescive T 50
Crore, Debt 1200 Crore. The company has offered buy back price of f

30 per equity share.

Required: Calculate the Maximum permissible number of Equity Shares that
can be bought back. K

On 1.7.2018 NEEM & TULSI Ltd (Listed) grants 100 options 1o each of
its 2100 employees at T 60 when the market price i1s 200, The vesting date
is 31st March, 2021 and the exercise date is 31st March, 2022. On 31st
March, 2019, the company found that 100 employces had left. Fair Value
of a share issued under ESOP was  93. On 31st March, 2020, the company
found that 80 cmployées had left. Fair Value of a share issued under ESOP
was Z 104. On 31st March, 2021, the company found that 192 employees
had left. Fair Value of a share issued under ESOP was ¥ 80. Only 1700
employees exercised their options on 31st March, 2022. The face value of

equity share is ¥ 10 per share.

Required: Calculate the Compensation Expense to be recognised during

each financial year and Value of Options Forfeited. (6)

Choose the correct option and write that correct option in full in answer

sheet. (1x5=%)
(i) Which of the following is not truc?

(a) Financial Statements of a company include a Balance Sheet, a
Profit and Loss Account, Cash Flow Statement, a Statement of

Changes in Equity and an explanatory note(s).

(b) Cash Flow Statement is not required to be prepared by One Person
Company, Small Company and Dormant Company.

BT.O~
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(c) 2% of Average Net Profits of the company made during 3
immediately preceding financial years is required to be spent on
Corporate Social Responsibility activities.

(d) The financial year of X Ltd incorporated on 1st January 2022 will
end on 31st March, 2022.

(i) Which of the following is not true?

(a) An item of Income or Expenditure is to be disclosed separately in
Statement of Profit/Loss of a Company if it exceeds 1% of the
Revenue from Operations or ¥ 1,00,000, whichever is higher.

(b) The figures appearing in the Financial Statements are compulsorily
required to be rounded off to the nearest crores if TOTAL
INCOME is T 100 crore or more. |

(c) Eleven Ratios are required to be calculated and disclosed while
preparing Financial Statements of a Company.

(d) ‘Proposed Dividend ’ is required to be shown under the Sub-head
“Short-Term Provisions” of Balance Sheet of a Company.

(1) Which of the following is not true?

(a) The name of 3rd main Item in Statement of Profit/Loss is TOTAL
INCOME".

(b) ‘Current Maturities of Long-Term.Borrowings * appear under the
Sub-head “Short-Term Borrowings” of Balance Sheet of a

Company.

(c) ‘Security Deposits’ appears under the Sub-head “Other Non-
Current Assets” of Balance Sheet of a Company.

(d) Building appears under the Sub-head ‘Tangible Assets” of Balance
Sheet of a Company. '
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(iv) Which of the following is not true?
(a) A" Company can not pay dividend on calls-in-advancc.

(b) A Company can declare and distribute Final Dividend in the event

of loss in any financial year.

(c) While preparing Balance Sheet of OM TAT SAT Ltd (of which
operating cycle is 14 months) as at 31st March, 2022, T 60 lakh
due from Y, a customer on 30th April, 2023 will be classified as

Current Asset.

‘(d) While preparing Balance Sheet of a Comp'zmy Trade Receivables/
Payables Ageing Schedule are not required to be prepared.

(v) Which of the following is not true?

(i) In the event of inadequacy or absence of profit in any financial
" year, if dividend is declared by a company for that year out of
Surplus, then 4 conditions as per The Companies (Declaration
and Payment of Dividend out of Reserves) Rules, 2014 need not

be fulfilled. '

(i) Amalgamation Adjustment Account is disclosed as a negative figure
item under the head “Reserves & Surplus” of Balance Sheet of a

Company.

(iii) Expenditure on Corporate Social Responsibility (CSR) is disclosed
as a separate item under the head “Other Expenses” in the
Statement of Profit/Loss of a Company.

(iv) ‘Uncalled Liability on partly paid Debentures held as Investments’
appears under the head “Current Liabilities” of Balance Sheet of

a Company.

(b) Prepare a format of Statement of Changes in Equity of a Company.  (3)

F.T.O.
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(©) Profit of HONEY & TULSI Ltd for the year ended 3 1st March, 2022 2 300
lakh, Equity Share Capital (Shares of T 10 cach) fully paid up 2 400 lakh,
Equity Share Capital (Shares of ¥ 10 cach) ¥ 7.50 called up & paid up 2
75 lakh, 10% Pref. Share Capital (Shares of ¥ 100 cach) fully paid up 2 400
lakh, As on 01.04.2021, Dividends on Preference Shares were in arrears for
2 years for 2019-2020 and 2020-2021. On 31.03.2022, dividends (including
Equity Dividend @ 20%) were paid for which no accounting cffect has yet

been given.

Required: Calculate the Basic Earnings per Share (Basic EPS). (7)
OR ALTERNATIVE QUESTION

(a) ATMA Ltd provides you the following information :

50,000, 9% Participating Pref. Shares of ¥ 100 each % 50 lakhs

1,00,000, 10% Preference Shares of ¥ 100 each T 100 lakhs

1,50,000, 11% Non-Cumulative Preference Shares :
of ¥ 100 each ' , T 150 lakhs

20,00,000, Equity Shares of ¥ 10 each, Z 7
per share called up & paid up - | T 140 lakhs

Add: Calls-in advance on 1,00,000 shares | ‘ _
@ X 4 per share ’ % 4 lakhs | ¥ 144 lakhs

DVRs (entitled to 5% more dividend than that , - '
on Equity Share) - ¥ 10 lakhs

< 454 lakhs

Current Year’s Tax @ 25% amounted to % 34.5 lakhs. Participating Pref,
Sharcholders are entitled to participate to the extent of 20% of Surplus

Profits as per Articles. Last year no dividend could be paid on any share
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(b)

{c)

9

due to absence of profits. The Company decided to declare and pay dividend
on Equity Shares @ 20%.

Required: Calculate the Total Amount of Dividend to be paid by the
company. (6)

PARAM ATMA Lid. provides you the following information as at 31* March
2021 :

Equity Share Capital (Shares of ¥ 10 Each) fully paid up 2100 lakh

876 Preference Share Capital (Shares of € 100 each) fully paid up [ 2 20 lakh

Reserves & Surplus (including Revaluation Reserves of 2 5 lakh) ¥ 35 lakh

Loss for the year ending: 31.3.2021 2 2 lakh, 31.3.2022 2 | lakh. Rates of
Equity Dividend : 15% in 2018-2019, 10% in 2019-2020, 8% in 2020-
2021 PARAM ATMA Lid desires 10 declare dividend (@ 10% for the loss

year 2021-2022.

Required: Can PARAM ATMA Ltd. do so T State giving reason as per The
Companies Act, 2013, (0)

Net Profits of JIV AATMA Ltd. for the years 2021-2022, 2020-2021,
2019.2020, 2018-2019, 2017-2018 are T 23 crore, T 20 crore, T 15 crore,
T 10 crore and T § crore respectively. During 2021-2022, the company
incurred only ¥ 7,00,000 and T 3,00,000 on free education and medical
treatment of the employees of the company and their families respectively

under CSR projects.

Reguired: Calculate the Amount of Shont Fall of Expenditure on Corporate
Social Responsibility duning 2021-2022 as per The Companies Act, 2013,
(3)

PTO.
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fevant eatracte ol the Nalance Sheetr of HALDL &

3 (a) From the following 1€
TULST Lad . Caloutate Cash Plow from Opetating Activities to be disclosed
AN Y dsaiied By 1CAID

in the Cash Flow Siatement as et A

General Reseny 1,40 (KK) 4 40, 000
e ——————————— e e e ————

Profit and Loss AT 6,82 000 (110K xr,‘

reerer 000 || M

Current Liabilities:

Trade Payables 1,65,000 40,000

Unclaimed Dividend on Equuty Shares 20,000

Qutstanding Interest on Short-term Borrowings 10,000

Qutstanding Underwriting Commission 5,000

Provision for Tax 40,000 20,000

Current Assets:

Interest Accrued on Current investments 2,000

8% Fixed Deposit (Date of FD 1st Mar., 2022 2,84,000 -

maturing on 3 1st May, 2022) FD carries payment

of interest on monthly basis.

Inventones 1,69,000 54,000

Trade Receivables 6,13,000 6,43,000

Less: Provision for Doubtful Debts (1,90,000) (1,50,000)

Cash at Bank _ 1,33,000 1,00,000

Additional Information :

(i) During the year Depreciation provided ¥ 1,40,000, Interest paid on
Short-term Borrowings ¥ 14,850, Dividend paid on Equity Shares ¥
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I
Iaqu.ﬂ“"‘ l'“"f'\‘l“i”ﬂ {.“””"iﬂuh”' l.“h' ' ' ‘S“-. I"l‘_'f." ll'!i‘.’lVC"
o0 Current lavestionts ¢ 9,500, Tax provided T 32,250 Gincluding tax

i A P
W 15% op hort-term capital gain). Tax paid includes tax @ 15% on

shorttem capital gain on Carrent Jnvestments. Short-term capital gain
on Cureent Investments t 15,000 Caplial Grant received 7 5,00,000.
Compensation received in o sult filed by the company * 90,000

Debtors of T 2,30,000 were written off against the Provision for
Doubtfyl Debis A/, |

(i) On 31.03.2022, the Business of Y Ltd. was purchased for T 60,000
payable in fully paid equity shares of T 10 each at 20% premium,
The assets included Inventories 2 15,000. Trade Receivables T 10,000

and Machine 2 50,000. Trade Payables of ¥ 15,000 were also taken
over.

(iii) It was decided to value Inventories at cost whereas previously the
practice was to value Inventories at cost less 10%. However, the

Closing Inventories on 31,03.2022 was correctly valued at cost.

(8)

(b) TULSI Ltd which holds 65% equity in Giloy Ltd sells 10% equity in Giloy

(c)

Ltd for cash of ¥ 50 lakh. What is the difference between the disclosure of
this transaction as per AS 3 and as per Ind AS 7 ¥ Will it make any
difference in your answer if TULSI Ltd sells 20% equity in Giloy Ltd for
cash of ¥ 100 lakh ? (2)

MALLIYA Limited went into voluntary liquidation and the proceedings
commenced on 14th June, 2022. Certain creditors could not receive
payment out of the realization of assets and out of the contributions from

the Contributories of the List ‘A’. The following are the details of share

" transfers.

PTO.




697 14

(iti) Salaries duc to ‘X' for § months @ ¥ 4,000 p.m.
(iv) Salaries due to 'Y for 4 months @ ¥ 6,000 p.m.
(v) Accrued Holiday Remuneration due to 'Z' T 21 lakh

(vi) Compensation under the Workmen Compensation Act due to ‘W' ¥ 2]

lakh

(vii) Provident Fund and Gratuity Fund due to ‘P* ¥ 21 lakh
(viii) Debentures having a floating charge ¥ 100 lakh
Note: X, Y,Z,W and P are employees of the company.
Regquired: Calculate Preferential Payments u/s 327. ©))

4. (a) TUSHAR & TASHIKA Ltd. provides you the following information as at
March 31, 2022 :

Particulars _ ‘ (¥ in lakhs)
Equity Share Capital (Shares of 7 10 each) 1000
6% Cum- Pref. Share Capital (Shares of ¥ 100 each) 200
Profit & Loss A/c (Dr) 5
10% First Debentures | 120
10% Second Debentures 200
Debentures Interest outstanding | 32
Trade Creditors 330
Property, Plant, Equipment 900
Patents & Copy Rights : ‘ 7
Investments [Face Value % 40 lakh] | 70
Trade Debtors 900




(L

-

i

Note! Divideos
P PIVIdend on Prorerence Shares ate in arcests for thiae years

L LY l! ¥ it ( 3 .' . I | h B |

() AL the Cquity ahates be converied into the same futnbet of equity

shares of ¢ § cach, T 2.50 paid up

01 The preference shares are converied from 6% (o 13% but revaiord in
a manner in which the total return on them remains unaffected Four
equity shares of T § cach, T 2.50 paid up to be ssued for cach T 104

of arrears of preference dividend.

(i) Mr. X holds 10% first debentures for 2 80 lakh and 10% second
debentures for T 120 lakh. He is also a creditor for T 20 lakh, Mr. "X
is to cancel ¥ 120 lakh of his total debt and to pay ¥ 20 lakh to the
company and to receive new 12% Debentures for the balance amount.
Mr. Y holds the remaining 10% first debentures and 10% second
debentures and is also a creditor for ¥ 10 lakh. Mr. *Y" is 1o cancel
Z 60 lakh of his total debt and to accept new 12% Debentures for the

balance amount.

(iv) Trade Creditors (other than X and Y) are given the option of either to
accept equity shares of ¥ 5, ¥ 2.50 paid up each, for the amount due
to them or to accept 80% of the amount due in cash. 40% Creditors
accepted equity shares whereas the balance accepted cash in full

settlement.

(v) 80% of Debtors are considered as Bad and 20% of the balance Debtors
are considered as Doubtful. 20% of Property, Plant, Equipment are

found undervalued by 20% of market value and 80% of the remaining

PT.O.



are found overvalued by K0% ol market value, OF the Investments
000 ix trade and the balance non tiade. All trade Investmonts are to
be valued at 28% helow cost Any surplus alter writing off the various

losses should e utthized o weiting down the vatue of Property, Ilant,

Equipment further.

Reguired: Preparce the Reconstruction Account, (12)
(b) Write any three differences between AS 14 and Ind AS 103, (3)

OR ALTERNATIVE QUESTION

(a) Given below are the extracts from the Balance Sheet of SHEENA Ltd. as
at 31st March, 2022 :

Particulars T lakh
Equity Share Capital (Shares of ¥ 10 cach) 200.00
8% Pref. Share Capital (Shares of ¥ 100 each) 50.00
General Reserve 20.00
Profit & Loss A/c 16.10
Statutory Reserves 5.00
10% Dcbentures 50.00
Trade Payables 140.00
Property, Plant, Equipment 150.00
Intangible Assets 119.50
Inventories 55.00
Trade Receivables 65.00
91.60

Cash at Bank
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Prior A : ol
@ o absorpion, SHEENA Ltd. decides to declare and nay eauity dividend
Q5%. T .
© 3%. The business of SHEENA Ltd. is taken over by BIIARAT Ltd. as

on thy
1at date on e following terms:

ey
1) 50% of Property, Plant, Equipment are taken over at 100% more thin
the book valye and the remaining Property, Plant, Equipment are taken

over 0 ’
Ver at 20% less than the book value.

(i) Intangible Assets are to be vkﬂucd at ¥ 52.50 lakh.

() Inventories are taken over at book value less 10% and Trade
Receivables are taken over at book value subject to an allowance of

10% to cover doubtful debts.

(iv) Trade Payables are to be taken over subject to a discount of 5% and
Unrecorded Loan Liability of 2 38.50 lakh to be discharged by
BHARAT Ltd. at book value.

(v) The purchase consideration payable by BHARAT Ltd. was agreed as

follows :

(a) The issue of such an amount of fully paid 14% Debentures in
BHARAT Ltd. at 96 percent as is sufficient to discharge 10%
Debentures in SHEENA Ltd. at a premium of 20 percent. - #

(b) The issue of such an amount of fully paid 10% Pref. Shares in
BHARAT Ltd. at 125% as is sufficient to discharge 8% Pref.
Shares in SHEENA Ltd. at a premium of 20%.

(c) One Equity Share of ¥ 10 cach, ¥ 8 paid up valuedat ¥ 15 per
sh-zirc for every two Equity Shares held in SHEENA Ltd. and the
balance in cash. The market value of an equity share of BHARAT
Ltd. at present is T 100.

PO
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(d) Expenses of liquidation of SHEENA Ltd. are to be reimbursed by
BHARAT Ltd. to the extent of ¥ 10.00 lakh. Actual Expenses

amounted to ¥ 14.10 lakh.

Required: Show the calculation and discharge of Purchase

Consideration. (10)

(b) Pass Journal Entries for the following transactions of OVER CAP LTD :
(i) Conversion of 2 lakh fully paid equity shares of ¥ 10 each into Stock.

(i) Consolidation of 40 lakh fully paid equity shares of ¥ 2.50 each into
fully paid equity shares of ¥ 10 each.

(iii) Sub-division of 10 lakh fully paid 11% preference shares of ¥ 50 each
into fully paid 11% preference shares of ¥ 10 each.

(iv) Conversion of 12% preference shares of ¥ 5,00,000 into 13%
preference shares of ¥ 3,00,000 and remaining balance as 14% Non-

cumulative preference shares. ; (1x4=4)

(c) Which of the following is true? Write that correct option in full in answer

sheet. : (1)

(i) As per AS 14, in case of Amalgamation in the nature of merger, the
Debentures issued by the transferee company to the Preference
shareholders _ofthe transferor company do not form part of Purchase

Consideration.

(ii) Internal Reconstruction can be done only in case of companies incurring
losses. '
=
(i) Reconstruction A/c/Capital Reduction A/c is either debited or credited
when Internal Reconstruction is carried out either by way of Variation

of Shareholders’ Rights u/s 48 or Alteration of Share Capital u/s 61.

AP




o7
v

i\'} Ay i . N 4 i Tl ' . 13 3 *

( Ruumlnulluu A/e/Capital Reduction A/e is always credited when
it Reconstruction is carried out by way of Reduction of Share
Capital u/s 66,

(V) None of these

2. Given below are the extracts from the Balance Sheets of H Ltd. and 8 Ltd. as

at 31st March 2022 '

Particulars H Ltd. S Lid.

3 4
Equity Share Capital (Shares of ¥ 10 each) 10.00,000 7,00,000
General Reserve 6,00,000 6,40.500
Profit & Loss A/c 3.10,000 1,02.000
Equity Shares in S Ltd. 5,10.000 e

Additional Information : (Assume that the profits arc evenly carned throughout

the year and ignore taxes)

(a) H Ltd. acquired 25000 Equity Shares of' S Ltd. on [.1.2021, when the
credit balance of Profit & Loss Account of S Ltd. was ¥ 1,87,000 and that
of General Reserve was ¥ 7,80,500. On 1.7.2021, H Ltd. further acquired

some cquity shares in S Ltd.

(b) On 31.8.2021, S Ltd. declared and paid dividend @ 20% on equity shares
for the year 2020-2021. On 01.10.2021 S Ltd declared and paid an Interim
dividend @ 20% p.a. on equity shares out of current year’s profits for the
half year ended 30th Sept. 2021. H Ltd. credited the receipt of dividend to
its Profit and Loss Account. On 1.11.2021, S Ltd. issued 2 shares for every
5 shares held, as bonus shares. No entry has been made in the books of H

Ltd. for the receipt of these bonus shares.

P10,
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(¢) H Ltd. held 42000 equity shares in S Ltd. on 31.3.2022.

Required : Calculate the Minority Interest, Capital Reserve on consolidation/

Goodwill on consolidation and the Balance of Consolidated P& L Account to be

taken to the Consolidated Balance Sheet of H Ltd. and its subsidiary, as at 31st

March, 2022. (15)

OR ALTERNATIVE QUESTION

(a) Definc Holding and Subsidiary Company. How are Minority Interest and

(b)

(c)

Capital Rescrve on consolidation/Goodwill on consolidation calculated while
preparing the Consolidated Balance Sheet of Holding Company and its

subsidiary? (8)
Write salient features of AS 21, (5)

On Ist April, 2021, the Share Capital of Giloy Ltd. consists of 2 10 crore
Equity Share Capital (2 10 each). On Ist July, 2021, TULSI Ltd
acquires 60% equity for 2 10 crore in Giloy Ltd and enters into an agreement
with AMLA Ltd to transfer 10% equity in Giloy Ltd on 1st June, 2022.
On 1st July, 2021, Capital Profits and Revenue Profits of Giloy Ltd are
¥ 5 crore and ¥ 3 crore respectively. Comment on Capital Reserve
on consohdation/Goodwill on consolidation as at 31st March 2022 as per

AS 21. 2)
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(71) @umm fedan @ F= W 100, vE sgSaE w0 T feradtre
fezd @t wenalta fom s smvas @ (vadiowd 7 wEm sk
3t ouEAl & A9 TL I A F A

(1) s ad % fAE 31 AR 7w o 2 dee ofioes B A R

@ 15 T T A R g T e v 9d ¥ s0sde @
71 398 UEA fFA W anfam 2

() =@ & & o1 o 259, Tt e Tz R
feod =1 Fafa e s R 2

(7) Fefofaa o dfea @ afeq Iwr afig (1x2=2)

(i) = =it Afefa, 2013 2 & it W & wea I93 9 g W W R
W HEAT 27

(i) @ w9 FfaFEE, 2013 B FE T vEaE @ geq REARAT AfEE =t
vt Rord A o a2 7

(|) sEen s qod fofs (gfme€) ¥ 100 Y& 10% 2 A@w ® 13000, 15%
FHUHE 04 AR (REramiwes W) A EE S hE w8 9,20 000
& A 9T, 7,10,000 WA W SR B @I 39, 2,25,000 TR R
i, 6,30,000 T @ % TG A 20,00,000 TR T FAW (Sfra =
10,00,000 TH) Wi 21 F&W & 40% 150% W A WAT 21 q0aar A
fasaT & 329 ¥ 20% & Mg W 100 €A 880, 15% RIW 3K 100, 12%
A AT TAF B 100 TR B R A I 0 ol o T R w @ I
@ ¥ 5,00,000 T 3 A 3R B @R A 5,00,000 T2 5t =T oW Aq Ul A0
T B

0qa W T & A & I A 25% N | 1 FRe I 9 v@F 10
A % 3RS W A g e 9 e SR | (5)

.
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:?T_Q_E ‘?ﬁé} e (aliwar) 3 udreer w6 Tl (8 MR widd) A e
. m“f?ﬁ) SR e ue QA @ e o WA (3 Wiepaiad)
R TR 10 T @ 12,50,000 SR At T E w1 e R R
T e T T AR R sk AN s w R I eev & i

' 'ﬁmmmﬁﬂmﬂﬁmw ol
K&

A 20%

= 4,50,000 (vt siw xR 20,000 IN)
T - 2,70,000 TR (W sis el 30,000 WN)
ST - 1,80,000 I (v siee T 50,000 WR)

6,20,000 I & fry e v g A, Rt A Rk s (ol i TR W
Eﬁm) T WEHR X

T 58,000 R, N1, 76,000 IK, K 1,86,000 AR

W e TR T R s @ s ) e v e St
& MR W Rar s B

T seEer A e Yo (V) o g @ wd ) A e @k (8)
1 Aefeads WA

31 7, 2022 @, ahww ffes (ae) A g Tl 9,00,000 A R, fird 0

T @ 60,000 et T e &, o @ v e R NURGREEIRE]

2 3k 10 T TR B 40,000 TR R, 7.50 TR WY MR v fowun
3, it 3 U 7500,12% SRS A 100 TR & TR e W ¥ (1 S
0022 Y T A 20% AT A 16 T A 10 T & et Jed A i )

fomiar 1 3, 2022 R, FE T RS TR W aifewr wve fan ol s0 aia,
2022 T T W fal

w@aaa@uﬁraﬁmml (3)
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(@) 319 2022 = fidia 3k g fafRe (T09€) D 99 10 T @ R TN
&, ww X 330 AT T 1 WA T 2, 10% RSl W #) e @

100 T @ W 70 FAT T D T4 9eH W B, Wienga Mivaw 90 =z v, SR
feard 240 FRE T, W SR B 20 FAT T, TN fe Rad 50 g w9,

1200 FAT T & HO EHIA 7 30 T W =E T B aw - Ay & dvww
1 B

Tferadt St & sfuaw sEa we | oEn g R aow ader o
Bl (6)

(|) femrw 17.2018 =1 S v qeet ™R (@) swd 2100 @l =) w2 @)
60 94 ¥ 100 YW = faw=y v fEw ® wafE 39 wran = 200 v 21 AW
A & AAQ 3) W, 2021 B ¥R TAAR FA G AG@ 31 A, 2022 131 A,

2019 @, TG ¥ 2@ f& 100 FHAA T2 M0 Ay

ST & qEd Wi fEe e S = 3feE w93 w3 W 31 W, 2020 9,
F T fF 80 wEd U W A IR F qEA WA faw W fw @ R 1=
104 T9F 41 3] W, 2021 W, TG A @ @ 192 wHAOd 99 W A Sogad
aed W fav e ow fiw @ 3 w80 WA un 31 W, 2022 w A 1700
w3 s faw=n o wam e sfadl S @ sfem 3= 10 TR W W

.4

wRE e ol @ e vree 7 AW e @ wd o we e g s
& I o T i (6)

2 (37) w8 faowy W 9 o S 3 o faws @ oW e A g |l (105=8)
(i) F=fafea 3 3 =15 = 38 56 27

(T) T T F R Re ¥ o3 597 w3, o o™ ok e E,
TFT v REw, i 3 wheds =1 = fawmor 3 v aers
[T (A7) wRE B |
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;:' P i), iy e o fafes @t g s g famo
R Sy o) sy i 1

()

() e Yiadl i et 4 Ao A g wen @ shae foa o
2% W qrnfirs Termfuca afafafidl o wd faa s s 2

(%) 1 S, 2022 o) famfargera fefnds o foeivr o 31 0, 2022
T B

(i) Fotfoierm 4 2 er ar ly 0

() I A R e g R @ /e e § s & v

ﬁmm%uﬁmm%m%mmmwoo,mﬂhmﬁm
o, A e 2

(@) T Rl ¥ weffa 21 amt aiwsl @t s w9 ¥ Freca &9
¥ quitfeer e amravae 8 af? wme o 87 100 WS AT e

(1) ol oot @ Frchrr foraor Aaw oA W TARE SR b AT AR
AR HEAT AAEF B |

()mﬁam aﬁmﬁraﬁﬁﬁ'«sﬂz%:ﬂaﬁ# ' Sreqantiorsn
yEauE @ d98d @R 9l JEds 'l

(iii) Prafees & ¥ @ @ @@ 78 27
(F )m/sﬁﬁamﬁmﬂgﬁmmm ‘oo I’ B

(@) ST SURI o FaH IRdeae mﬁaﬁﬂﬁqﬁa%m e
; « s UK’ @ wEd R 39 B

() “RreraR&fRIE FE B doE e D - TN AT-T]WC
w%mﬁaﬁ%mﬁn

(w1) s ot R B g T @ IT- A o et @ Herta e Bl
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(iv) Prefefas ¥ ¥ w7 a1 @81 & 2
() T TR FHieT- - TSI R AL T WA T G g 21
() e Fat o R 3 T R R e s i o
faaRa @< a@at 21
() émﬁf, 2022 H AN dadwI0 (W%wﬁ‘mﬂwaﬁﬁjﬁi‘rm%)

2 37 Me FIR I T, T A I 60 A TR, Reiw 30 0,
2023 Y U WESH H A IRGUTT & T N qiiigha fwar sreEm

(9) TR & AUR G / 27 A H A9 e dar T v g
HR T F FEIGEHAT T8 B B

(v) Pttt & & @ a1 @@ 7 2

() it o fareia od & sodicaan a1 o o Sqaraty o R ¥, AR
fF i ot g FfEE ¥ ¥ 3@ ad & forg e &t Swor # e 2,
ar YAl (ST @ W 3R AREE) @ AR 4 99 o & 9
o, 2014 @ W FA W F@EHA TE B

(@) TRET FHEIST @A S Gl [ S @ geT- 0T @ SRR
vq FEY fided & FSTT Ud THHE AE qC D w9 A fRar aren
2l -

(1) FRIRE AR IEREie (FVEAR ) W =G 1 G ol o & |
AN /3 B Ao ¥ 5= =g e & AT U AT AT & &9 A
forar mar 21

() ‘Fw & w0 ¥ smdifer sl &9 A W?ﬁ??mﬁ%aﬂwaﬁrﬁa
W’ &S w0 A gE-TF F TOHE gas @ i & dEd
fear & 21 '

(3) & waR & 3 F wRadT & Raw &1 vw e TR (3)
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@) =x
w'mnﬁm-ﬂﬁﬁﬁqxﬁlﬁﬁﬁm T AN 300 FE T,
R G (e 10 78 & Srqz) ¥ qft A § 400 A 794, TR A G
( s 9 Et‘i”i'x‘?fzﬂ) 7.sumwwﬁm 01.04.2021 Hﬂfmmm
ST 201.04.205, W, Thaa 3 A 2019 - 2020 A 2020 - 2021 % g
2 : .
& ﬁq @
31032022, mfsr (ZO%WWH%H] &1 wm Iar '*'“, 'ﬁ{ﬂ%m m
=g a5 e 2
ﬁw@m(?ﬁm)ﬁmﬁml )
A Aehfoaes WS
() sren ot s Fraffan e wem o 2 -
50,000, 9% Participating Pref. Shares of Z 100 each T 50 lakhs
1,00,000, 10% Preference Shares of Z 100 each % 100 lakhs
1,50,000, 11% Non-Cumulative Preference Shares
of ¥ 100 each T 150 lakhs
20,00,000, Equity Shares of ¥ 10 each, ¥ 7
per share called up & paid up T 140 lakhs
Add: Calls-in advance on 1,00,000 shares
@ T 4 per share % 4 lakhs | T 144 lakhs
DVRs (entitled to 5% more dividend than that
on Equity Share) T 10 lakhs
X 454 lakhs

PTO,
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] af & F @ 25% W AR € 34.5 A@ M OWA AW AA X A@ D FFAX
MU T T B 20% Tt QA T 9T AT D @R 81 Rod af a8
& HROT R TR W AT FT A 81 R 1 T HEN A 20% I W A
St R A AR T IR I T @ Rk

AR 3 : TN T WA T T A a9 e afdt @ aoE R

T e fofies smuet Feefciae SHenr@ wer e 2

Rt A gt (e 10 T D ) 9 e @ sy e % 100 W@
8% T I Yoit (A 100 T9A & I T} w5 ¥ e e % 20 @
FRET v Siferd (71 o € & Rdwgewer Rad afza) . 35 WA

31.3.2021 Tl G B 9t a9 B BY- 2 ARG T
3132022 & GO B O 99 D BR- | WG T

Fferadt Rfass &t X 2018-2019 F 15%, 2019 - 2020 ¥ 10%, 2020 - 2021 F 8%

@ o fafee w1 af 2021-2022 @ Rw 0% @ aviw ARG T TET T

srafiee: = oeA e fofies ¥ o W 37w sffaE, 2013 B SEER
HROT FAA Y IR forad (6)

¥ 2021-2022, 2020-2021, 2019 -2020, 2018 -2019, 2017 -2018 & T T
e oS &t & o T T 25 TIE, 2 20 TS, 15 FRT, T 210 HAT
3 T 5 T8 B1 9 2021- 2022 B I, FT ¥ ACEHR IRAS & 78d Fh
@ ARl S IFh IR i forgeen firem ik e STuR ® e 2 7,00,000
3k ¥ 3,00,000 @ T 7T

Ffiee: ot AfUfEH, 2013 B FFER 9§ 2021-2022 B R HUIRE G
ITRARE W = W w1 ae & TR 0 R (3)
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(31)

30

LT
W?Y:(aant TR R ) At e @ sl e Sa@on 3 o
el & ey e e i A, e anddvont i sy o

TR 2 W R e [ e R

U TR T 03&20 o :u.os mm»
General Reserve i 140000 | .ilu.u(m
Profit and Loss A/c 6,52,000 = (13,000
Capital Grant T—— ﬂ?ﬂ;&nﬁ:m N{lﬂ
Current Linbilities: T ]

Trade Payables 1,65,000 40,000

Unclaimed Dividend on Equity Shares 20,000

Outstanding Interest on Short-term Borrowings 10,000

Outstanding Underwriting Commission 5,000

Provision for Tax 40,000 20,000

Current Assets:

Interest Accrued on Current investiments 2,000

8% Fixed Deposit (Date of FD st Mar,, 2022 2,84,000 -
| maturing on 31st May, 2022) FD carries pnyment

of interest on monthly basis.

- Inventories 1,69,000 54,000
Trade Receivables 6,13,000 6,43,000
Less: Provision for Doubtful Debts (1,90,000) (1,50,000)
Cash at Bank 1,33,000 1,00,000

PTO.
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JfARaa st :

.(,-)ﬁ@ﬁmmmﬁmwmu,ooo,mmmmaﬂ
WA 14,850, SFAEE AU W I IR 1,90,000, BEER SERT
(siscagfen HTT) A 3,250 T A e, s Raw w e s
9,5001 32,250 T 2 WS fhal T (Sreueniers YolRG @ W @ 15%
T afRd)| A 6T T A Ay A w st g @ W
15% @1 o & @Y M 1 9] FRw R sreqeedie geivre @nT 15,000 GOl
3T 5,00,000 W<t I 'mewyﬁ#mgm 90,000
21 2,30,000 & IR W WRW T FEPT /MRATT BR TFCHA I

eIe B wEuH & s 92 W ¥ v Rar war am -

(i) 31.03.2022 @, Y ffide =1 x99 60,000 ¥ @der 7@ @1, S 20% Mg
W 10 TUQ Gl qUf A A SfEd I F 37 an gafe 7 15,000 3R
e 1 =R W 10,000 @ 3 HRT 50,000 T T 15,000 T AR
g &t ot o forar Tam

(i) TR R A AT Ui & @ Ao forn @ ar, sEfd e snam
N e G T 10% | T 91 BIelih, 31.03.2022 Wi G A
w8 e FAufRor aw w R mr an (8)

(¥) g Rifes ot firela ffies & 65% sfaedt v 2, e fafids 4 10% Rad
50 9 TQ B THT ¥ A9 B1 AS 3 D AR AR Ind AS 7 F IR T oA
B Ruaeiion @ 99 =1 FR 27 41 TS I A FE G 9o Ffe gordt feifde
100 @ D TEe ¥ el AR ¥ 20% 3RS A= 2 (2)
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(®) il _
R QR R 3 e S w14 T, 2022 T I AL

M

[/ VWK Wﬁiﬂ%mﬂwmﬂﬂmwﬁ i g A T i s

® .
VR 32 e o o e e

Nm,l S RN 1 1 v |-
f\l(?l' Of gt NO Of Paid up Date of Amount due 1o
e 'f}je . : Shﬂms \'{N’U(‘ ”-(]".\:ﬁ!r r_‘n‘dl'fors on ”l(.’
_ fransjeror | transfered date of transfer

P 400 T 85 paid up | 12th June, 2021 T 12,000

Q S00 | %85 paidup | 14thAug 2021 | ¥ 16,000

R 200 T80 paid up | Ist Oct. 2021 2 21,500

S 800 T 75 paid up | st Dec. 2021 T 26,000

T 100 75 paid up | Ist April, 2022 T 30,000
T 3 100100 TR @ A, B | 90 WY W F@ I 7w A W M
anfie : TE ST AR @ 2T A IEAT W (5)

1 Toaeh Wi

mmmﬂaaa@nﬁﬁuﬂﬁﬁﬁ@'%aﬁm%maﬁm

Al
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tam-c,, foars 31.03.2022 | 31.03.2021
E 4 4
I Equity Share Capital (Shares of ¥ 10 each) 10,55,000 6,00,000
[ 59 Pref. Share Capital (Shares of ¥ 100 each) 2,00,000 4.00,000
l General Reserve . _ 1,40,000 4,40,000
! Profit and Loss A/c 6,42,000 (13,000)
I Securities Premium 52,500 20,000
l Capital Redemption Reserve — 1,50,000
lNon—Current Liabilities (12% Debentures) 2.,75,000 ~1,50,000
! Current Liabilities:
; Outstanding Interest on Debentures 10,000 i)
I Outstanding Underwriting Commission 5,000 -
l Unclaimed Dividend on Equity Shares 20,000 .
) INon-Current Assets (Machine) ' 30,000 s
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Sr. No. of Question Paper: 1079 B
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Exccutives
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Semester C 1
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Instructions for Candidates

1. Write your Roll No. on the top immediately on rccelpt
of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Use of Simple Calculator/Log Table/Annuity Table/
Present Value Factors Table is allowed.

1. (a) “Risk and return are the critical parameters of
investment decision making”. Explain the statement
by establishing the relationship between risk and
return. (8)

P.I.O.
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]

(b) Critically

2

evaluate the advantages and

disadvantages of raising funds by issuing shares

of different types. 7)
OR

(a) Explain the Time Value Concept of money with

(6)

suitable example.

(b) Anuradha wishes to determine how much money
she will have at the end of five years if she spends
Rs. 15,000 annually in a saving account paying
7% annual interest? The deposits will be made at

the end of each year. Show your calculations.

)

(a) Explain the different qualitative characteristics of

financial statements. (8)

(b) “Ratio Analysis diagnose the defects in a

company”. Explain. Also write down the objectives

of the Ratio analysis. (7)
OR

(a) Following information is provided by XYZ Co. Ltd

for the year ending 2021 :
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Liabilities Amount | Assets Amount
. (Rs.) (Rs.)
6000 equity shares of Rs.100 | 6,00,000 | Plant, propenty & | 12,00,000
- each, fully paid up Equipment
40,000, 10% preference Inventory 5,40,000
shares of Rs.10 each fully | 4,00,000 | Sundry Debtors 3,00,000
paid up 5,00,000 | Cash at bank 5.00,000
Reserves and Surplus 5,00,000 | Marketable secunties 1,20,000
5000,10% Debentures 2,00,000
Bank loan @12%p.a. 4.60,000
Current Liabilines
Total 26,60,00 | Total 26,60,000
0

Calculate following ratios assuming that
EBIT = Rs.7,20,000

(1) Debt-equity ratio
(u) Interest Coverage Ratio. (6)
(b) Compare two alternative projects on NPV and Pl

basis, where rate of return 1s 10%. The details

are given below :

( ] [ Project X Project Y

| Cash outflow(Rs.) 2,60,000 2,70,000

CashlaflowRs) 1 95,000 28000

| Life of project(in year) S year S year ]
Also Comment on results. (9

3. (a) What 1s WACC? Explain the signmificance of
the cost of capital in financial management
decisions. (9)

P.T.O.
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(b) From the following information, Calculate Weighted
Average Cost of Capital (WACC):

Source of Funds Amount (Rs.) Cost of Capital
Debentures 4,50,000 6.5 (Pre- tax rate)
Preference Share Capital 3,00,000 9.5
Equity Share capital (Rs.100 7,50,000 20
each)
Total 15,00,000

Tax Rate is 50%. (6)

OR

(a) Explain the term leverage. Differentiate Operating

leverage and financial leverage. (8)

(b) Explain the term Dividend. What are the various
factors affecting dividend policy? (7)

4. (a) “Working Capital is a two-edged sword, its
excessive and deficit availability are equally bad”.
Explain the statement with suitable examples.
Explain the factors affecting working capital

requirements. (10)

(b) What is a portfolio? Explain the role of correlation
coefficient in the construction of a portfolio.

(5)

e —————
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OR

(a) Following information is available in respect of

the return on two securities: X and Y :

_E-:P_"dili_on Probability | Return on X Retumon Y
Recession 0.3 -10% 15%
Normal 0.4 20% 25%

Boom 0.3 35% 40%

Calculate the expected returns and risk of Security
X and Y. (10)

(b) From the following information, compute the value
of equity using CAPM :

Face value of equity share : Rs.50

Dividend Paid : Rs. 10 per share

Interest on Govt bonds : 8%

Beta x 45

Market Return : 20%

Growth Rate of the company : 5% (5)
5. Write short notes on any three: (5%3)

(a) Capital Structure

(b) Contemporary Issues in Finance

P.T.C,
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(¢) Systcmalic Risk
(d) Types of Dividend

(¢) Temporary Working Capital

(1000)

Pt
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. (a) Explain the conoept of corporate pessonlily atd

discuss the circumstances where court can

disregard/disrespect the corporate personality of

a company.

(b) Define a pfivate company. State the exemptions
and privileges available to private company under

Companies Act 2013.

(c) “A promoter remains liable for pre-incorporation

contracts.” Critically examine the statement.

OR
(a) Write a note on illegal association of persons.

(b) “A promoter stands in a fiduciary relation towards
a company he promotes.” Explain the statement

mentioning his consequential duties.

(c) Explain the concept of producer company. State
the objectives for which a producer company may

be formed.
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2. (a) Explain the doctrine of ultra vires. Discuss the

effects of ultra vires transactions,

(b) What is misleading prospectus? What are the

consequences of misleading prospectus?

(¢) The articles of a company contained that X should
be the solicitor for the company and should not be
removed from fhe office except for misconduct.
X acted as solicitor for the company for some
time. But ultimately the company ceased to employ
him and engaged another solicitor. X sued the

company for this breach. Will he succeed?

OR

(a) Explain the rule laid down in Royal British Bank

Vs Turquand. What are its exceptions?

(b) “Memorandum of Association is a charter of the
company.” Comment and explain the procedure of

alteration in the object clause of Memorandum of

Association.

P.T.O.
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(¢) Define and distinguish Red Herring Prospectug and

Shelf” Prospectus.

3. (a) What are the conditions to be fulfilled by a

company that proposes to issue “sweat equity

shares” under Companies Act?

(b) Who is member of a company? Explain

various modes of acquisition of membership of a

company.

(c) Discuss the statutory provisions regarding

reduction in share capital.
OR

~(a) “Dividend once declared cannot be revoked.” Are

there any exceptions to it?

(b) Why does Companies Act allow a company to
buy back its shares? Explain the legal provisions

relating to the buy back of securities.
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(c) Differentiate between Right Shares and Bonus

Shares.

4. (a) Under what circumstances a director is deemed

to have vacated the office of directorship?

(b) “A faulty notice of the meeting can be fatal to the

validity of a meeting.” Explain.

(c) Explain the rules with regard to appointment of

small shareholder’s director.
OR

(a) Explain the provisions of Companies Act regarding

appointment of proxy.

(b) Distinguish between Whole Time Director and a

Managing Director.

(c) Write a note on “voting by electronic means.”

P.T.0.
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S (a) State the circumstances undet which a company

mayv he w onnd ap |;(tm[‘.lll.“?t“)’ h_}' NCLT.

(l\_\ I vamune the &ﬂ'll‘.tﬂ featuecs ”‘ the ')p"jﬂtz“ﬂf},‘

Act 1996,

(¢) What are the provisions of the Companics Act

2013 regarding the appointment of auditors?

OR

(a) Define the term “book of account™. Discuss the
provisions for the maintenance of the book of

account under the Companies Act 2013.

(b) What is meant by “inability to pay debts”™? Can
a company be wound up on this ground?

Discuss.

(¢) What is the process of dematerialization of shares?

Can these may be rematerialized?
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1. (a) “Variable cost may be direct or indirect.” Is it

true? If so illustrate giving two examples.

(b).“Cost Accounts are the key to the econofny in‘
manufacturing sector and are indispensablé to the
intelligent and economical management of a
factory.” In the light of this statement, E.xplain

the advdntages of Cost Accounting. (5,10)
OR

(a) What are the similarities and dissimilarities between

Job costing and Contract Costing.

(b) “Limitations of financial accounting have made the
management to realize the importance of cost

accounting.” Comment. (5,10)
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(%) “oRaffa sne wer ar v B gwdat 817 W

T8 9 B? g ¥ B A B IEmOT I FU W
Ealidl

(@) “omE ww ffefn &7 X seferEwn @ w9 € ok
TF HREN ® g ok e e @ i
TR 17 o D TEW ¥ T F@rET D
N W =REr il

E21)

(%) T =R s wiar BT & 99 AT R
SEAAG 37

(@) “foa a5 s ¥ YU S dnTE oRaiET
® WET W U™ Sdl 217 fToet sifie

2. (a) The quarterly production of a company’s product

which has a steady market is 20,000 units. Each
unit of product requires 0.5 kg. of raw material.
The cost of placing one order-for raw material is
X100 and the inventory carrying cost is T2 per

annum per kg. The lead time for procurement of

P.T.L,
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36 days and a safety stock of

658

raw material 18

1.000 kg of raw

company. The company h
the following discount structure with the raw

materials is maintained by the

as been able to negotiate

material supplier:

Order Quantity Discount per order

Kg. 4
Below - 6,000 NIL -
6,000 - 8,000 400
8,000 - 16,000 2,000
16,000 — 30,000 3,200
4,000

30,000 — 435,000

You are required 1o

(i) Calculate the re-order point taking 30 days

in & month.

(1) Prepare a statement showing the total cost
of procurement and storage of raw
materials after considering the discount if

the company selects to place one, two, four

or six orders in the year.
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(1i1) State thé number of orders which the

-

company should place to minimize the costs

after taking EOQ into consideration.

(10)

(b) What do you mean by labor turnover? What are
the cost associated with it? How would you treat

these cost in the cost accounting? (3)

OR

(a) A company’s basic wage rate is .60 per hour

and its overtime rates are :
Evening - time and one-third

Weekend - D;auble the time

During the previous year the following hours were
worked :

Normal time 2.20,000 clock hours

Time plus one-third 20,000 clock hours

Double time 10,000 clock hours _

Three jobs have been worked on the following

time periods :

PT.0.
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Job 1 Job II Job Iq]
Clock hrs. Clock hrs. Clock hrs.

Normal time 3,000 5,000 4,000

Evening overtime 300 600 1,050

Weekend overtime 100 50 300

You are required to calculate the labour cost
chargeable to each job in each of the following

circumstances :

(1) Where overtime is worked regularly
throughout the year as the policy of the
company due to labour shortage.

(i) Where overtime is worked specially at the
request of the customer. (10)

(b) Explain how you would differentiate between
normal and abnormal wastages of material and

their treatment in the cost accounts. (5)

(%) T foR R ol ST & I @ foae Iee
20,000 T 21 IR A ARAF THE D e 0.5
o W A T A 2w W @ fe o
SIS I & AN T100 8 IR TR o T Al AN

i
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22 WY o wfy frd™ 21w A @ @de & forw
R W 36 B 2 3K FO B 1,000 freRm F
WWWE‘WI@W%lMﬁ%W%
Iafie @ ar FrfRad g e R S H

W ww R
ST at A afay 3isT BT
fereiam 4
T - 6,000 =
6,000 - 8,000 400
8,000 - 16,000 . 2,000
16,000 - 30,000 3,200
30,000 - 45,000 4,000

s fefafaa & B

(i) uw WA A 30 faT MR EY G S fg A
MU FAfAQ

(i) afz @ af ¥ ¢@, A, TR A TE SR G
Tz & B, A g7 W AR v @ e ww
A & /AT R WEROT E HE @ evie §e
ve faaor dar S

P.T.0,
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Us HE F AT AoEQ K 60 TAR Her B SR TweAl

.

T g 3R U e

frod 7§ @ d FeRRe 2w fry T Y

A =S 2,20,000 HSl b
T W Ue R 20,000 HS TS
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Cacl| w11 @
ol vl e wie) el ue

RLRILE i ot o 3,000 5,000 4,000
AW T HrarergH 300 600 1,050
BT T acegd 100 50 300

ﬁ%ﬁ%n@ﬁqﬁ@%ﬁmm%%‘i
T ¥ AR 9 IUET & ol B

Q) sm @ R D Fwo wE A A Do
A R af Pt w1 ¥ sawersy w™ foean s
21 ' '

(ii) mmﬁ%ﬁm%mﬁ%aﬁum
W frar s 21

(@) =y %mwﬂi}%maﬂiww
I A W X I IR w9 FR DA
A

3. _(a) From the following data, work out the pre-
determined machine hour rates for Departments
‘A and B of a factory:

P.T.O.
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Prcliminary estimates of exXpengeg
Total  Dept. A Dept, B
T 4 g
Power l 5.()00 -----------
8,000 3,000 5,000

Spare parts
Consumable stores . 5,000 A
Depreciation on machinery 30,000

Insurance on machinery 3,000 'SRl e
Indirect Labour 40,000  -e-e-e- ‘ m=mmn
Building maintenance 7000 e

The final estimates are to be prepared on the basis
of above figures after considering the following

factors :

(i) An increase of 10 percent in price of spare

parts,

(i) An increase of 20 percent in the
consumption of spare parts for department

B only.

(iii) Increase in the straight line depreciation
from 10 percent on the original value of
machinery to 12 percent.

(iv) 15 percent general increase in wage rates.

®
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The following information is available :

Deptt. A Deptt. B

Estimated dircct Jabour hours 80,000 1,20,000

Ratio of K.W, rating 3 2
Estimated machine hours 25,000 30,000
Floor space (sq. ft) 15,000 20,000
(10)
(b) What is Activity Based Costing system? Explain
its conceptual framework. - (5)
OR

(a) In a factory, overheads of a particular department
are recovered on the basis of Rs. 5 per machine
hour. The total expenses incurred and the actual
machine hours for the department for the month
of August were Rs. 80,000 and 10,000 hours,
respectively. Of the amount of Rs. 80,000,
Rs. 15,000 became payable due to an award of
the Labour Court and Rs. 5,000 was in respect of
expenses of the previous year booked in the current
month (August). Actual production was 40,000
units, of which 30,000 units were sold. On

P.T:0.
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analysing the reason, it was found that 60, of the
under-absorbed overhecad was due to defectjye
planning and the rest was attributed to normal Cos|
increase. How would you treat the under absorbed

overhead in the cost accounts? (10)

(b) Describe Allocation, Absorption and Apportionment

(3)

of overheads.
() FrafeRaa sifwsl &, vh FREH & fasm-A s B
& forg o -FefRe 7@ 48 &t & 3t womr i

e  fawmm A faww B

4 k4 4
gferd 15,000 -—- ---
Q@R uIcE 8,000 3,000 | 5,000
JqAIST HER | 5,000 2,000 3,000
AHAG TR Heag™E 30,000 10,000 20,000
FAFA I S 3,000 -—- ---
FTTE A 40,000 --- ---
Haq @ - W@ 7,000 --- ---
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ol qmay w frar o @ @@ IREd A
%Wwaﬁna@rﬁﬁwﬁﬁmm?f

(i) szjé,\a%a‘ﬂmﬁmuﬁmaaﬁg%l

(i) Saw fsmr b & forg e acd # @I F 20
RERC I o1

- (i) e R e e w10 R ¥ 12 Wi T
| A Y wEm ¥ gl

(iv) w1 = % 15 whm = ame gfe
Frefofeam e swem #

favmr A fawmr B

Iy wm W 80,000 120,000
freae e =1 s 3 2

FAEE 7T W 25,000 30,000
R WY (a9 qie) 15,000 20,000

(@) wfafafy smnfa avm s w=n 87 T@a d9Re o
RN @ F

PT 0.
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EAIE ]

(=)

From the following data r.elating to a manufacturing
company ‘New Wave Ltd., you are required to .
compute the cost of production (Using New Cost

Accounting Standards) :
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Cost items ——

r

Amount (J)

Raw materials purchased
Opening stock of raw materials

Closing stock of raw materials

Employee cost paid

Value of opening Work-in-process

Value of closing Work-in-process

Repair & maintenance - plant & machinery
Insurance premium - plant & machinery
Quality control cost incurred for the products

Research & development cost for

Improvement in production process

Administrative cost for -

— Factory & production
— Others

Amount realized from sale of scrap
(manufacturing process)

Packing cost necessary to preserve the
goods for further processing

Salary paid to Director

25,60,000
1,15,200
1,78,400
9,28,000
1,62,400
240,840
3,92,200

38,400
34,400

37,040

3,60,000
4,64,000

3,680

4,080
3,56,000

P.T.O.
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OR

The tollowing cost details were provided by the
accountant of Veta Ltd. relating to a product for the
period ended December, 2020. You are required to
compute cost of production (using New Cost

Accounting Standards) :

172,800

Opening Direct Material
Direct Material Purchases 3.840,000
Closing Direct Material 267,600
Direct Employee Cost 1,392,000
Direct Expenses 30,000
Repairs & Maintenance for Plant

and Machinery 588,300
Insurance Premium paid for

Plant and Machinery 57,600

Manufacturing Overheads

Opening Work in Progress - 243,600
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Closing Worlk
E Work iy Progress

Quality Contro| Cost

Research
and Dcvc!opmcnl Cost

Administrat;j
nistrative Overheads relating
to Production

Admmistrali\fe Overheads not
relating 1o Production

Packing Cosy (Primary)
Scrap Realised

Salary paid 1o Director

361,260
51,600

55,560

540,000

696,000
6,120
5,520

543,000

m%mmﬁaﬁﬂwaﬂﬁ?(q‘?mm

ATH T ITA )

AT SIEEN afer (9
7 A A 25,60,000
¥ 9T F AT =i 1,15,200
gmﬂﬁﬁﬂm 1,78,400
WT‘T’ T ST W vy 9,28,000
4TS WA TP 1,62,400
TE.9TAT F 7T A T g 240,840

P.X),
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e s v - waT A AdiEd 3,92,200
ey sfifr - s el 38,400
| serst ¥ foreg f g o fw AT 34,400
Wq%mngmzaﬁvangmﬁmm 37,040

TR AT ST .

‘- m—-ﬁq&mﬁ i 3amEA 3,60,000
— 4,64,000
= Reft 3 rf (Refwfor sfi) 3,680
| s 1 whEa ¥ oo e 1 9l 7§ N sraes i A 4,080
| o= %1 Rarmar 3aw 3,56,000

Ll

*E=, 2020 F T A 2 fv v IEE ¥ GERE AT
it & deer ww PrafiRas o Reor wem e T
1 IR I AN T FE B (A} AR AR
AR AT ITIT ) -

ST werE | 172,800
TIE Al @de 3,840,000
FAGT e Hri 267,600
TS FHAN AN 1,392,000
SR 30,000

W SR A S R e ik e 588,300

A 57,600
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ERIENIBEIES
AT W iy e
aeifont & wmfy
urEE R s
AU R Rewrr wm
I A wEE e IuRem
S IJuRer S Searenr & wdafua A A

R wnE (nafer)
hY
o = Rar mar A=

243,600

361,260

51,600

66,660

640,000

696,000

6,120

5,520

543,000

5. 2,000 units have been transferred to a process from

the previous process at a cost of T68,000. Costs

~ incurred at the process include a purchase of additional

chemical materials of 50 containers of 20 kg. cach at

a cost of T 60 per container. Other costs incurred at

the process are Rs. 26,294. Generally 5% of input

units are damaged in the process. The damaged units

are sold @ T 20 per unit. Empty containers are sold

P.T.O.
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at T 6 per container, but 2% of containers get damaged

and become worthless.

During the week for which the cost details are given,
a total of 1,930 units were finished at the process but
only-47 empty containers could be sold and the rest
were damaged. 700 units produced at the process
were sold outside @ ¥ 80 per unit. Rest of the process

‘output was transferred to the next process.

Prepare Process Alc, Normal Loss A/c, Abnormal

Loss/Gain A/c and Costing P&L Alc. (15)
OR

(a) Indicate the reason why it.is usually necessary
. for the cost and financial records of a company to
‘be reconciled and explain-the differences which

might enter into reconciliation,

(b) A lorry starts with a load of 40 tonnes of gt;ods
from station A. It unloads 16 tonnes at station
B and rest of goods at station C. It reaches
back directly to station A after getting reloaded

with 32 tonnes of goods at station C. The distance
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between A gnq B, B to C and then from C to A
are 80 km., 120 km, and 160 km, respectively.

Calculate Absolute tonne- km and Commercial
tonne-km.

() Pass the Journal Entries in the cost Books

(non-Integrated system) for the following

Transactions:

(1) Material worth 25,000 returned to stores

from the job.
(ii)) Gross total wages paid ¥ 48,000.

(iii) Employers contribution to the provident

fund and state insurance amounted to
32000

(iv) Wages analysis book detailed Z 20,000 for
direct labour, ¥ 12,000 towards indirect
factory labour, ¥ 10,000 towards salaries
to the office staff and ¥'8,000 towards the

salaries to the selling and Distribution staff.

(5,5,5)

P.T.O.
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(%) =wwor TR iy sl W A mudR A AnE e
st RS o) feasamer aen w smon ® a3
TN WY wran R S fewama A wdm a7 waa
|

(|) v &0 Ry A ¥ 40 T WA D WK & WA IE
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(1) Feffaa amw & fw ovm 9B (IR-vehga

(i) 25,000 =it AR ST ¥ gHEFAl W) e & T

(ii) W@ fFar T e S F9T T 48,0001

(iii) iR B i oo @ ¥ Frde @ e

<2000 1
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1. (a) A hrm purchases two machines at a cost of Rs
31,000 and Rs. 35,000 respectively. Both machines
have a useful life of 4 years and have zero salvage

“values at the end of 4 years. Find the depreciation
of each machine for each year using matrix

notation if:

(a) Both machines are depreciated by the
straight-line method, ‘
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(b) Both machines are depreciated by the sum of
years digit method,

(c) First is depreciated by straight-line method
and second by the sum of years digit method.

(a) = ®F Fww 31,000 T9A 3R 35,000 TIA AN A
A A AT @l #1 A WA B ITAR AFTHEA
4 WA H R IR 4 AE B FT A A A B AR
T Y= ¥ Apww gdAT (ALIA) w1 ITEm @
TR 98 B fay g@F 7 F e (FEa) 79
wHifea afe;

(i) o T = A e fafy (Ko -an dus)
g Fawtean (wewera) e @ @,

(i) o TR Wl Fw R (R da) @ am
A Fawftea (qegew) & o 2,

(iii) g W A @ R (Ko - duz)

g SR T T =l Fw R (R 3gz)
& 9 ¥ Fweaa (Fel) R wman 2

PT.0O.
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OR

To control a crop disease it is necessary to usc 12
units of chemical A, 13 units of chemical B and

15 units of chemical C. One barrel *of spray P
contains one unit of A, one unit of B and one unit
of C. One barrel of spray Q contains 2 units of A,
6 units of B and 5 units of C. One barrel of spray
R contains 3 units of A, 2 units of B and 3 units
of C. Find how many barrels of each spray be
used to just meet the requirement. (Solve by

Matrix Algebra.) (5)

wEe # AMY @ FERE w5 S Ry Wi A @
12 FEEd, TEERS B @ 13 TEEA R wEiE C
15 T T ST w s AW A W PR
TEH R A A W UF TR, B FUF 3 3R C R
UE T AR B TE W Q D I F A W 2 3,
B &l 6 3wzl &k C &Y 5 IEdl a4l 21 & R &
T e X A 3 THEA, B @ 2 A sk C &
3 IHIF B Bl S e R SRE Rk =mmens
JEEHA W FH @ g 7dF B D fhay T
mmmm%(ﬁﬁmﬁmﬁammaﬂﬁﬁl)
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N

(6) An economy produces only two commodities X

(9

f

nd Y. The two commodities serve as intermediate
mmputs in each other’s production. To produce 2
unit of X. 0.3 units of X and 0.6 units of Y are
needed. Similarly. to produce a unit of Y. 0.4 units
of X 2nd 0.2 units of Y are needed. 4 and 6
[zbour days zre required to produce a unit of X
Y respectively. The wage rate is Rs. 230 per
lzbour day. If 240 units and 360 units of X and Y
respectively are needed for final consumption, find
the gross output levels of the two commodities.
Also.calculate the equilibrium prices. total labour

requirementand the total value-added.

(b) =5 FA-707 % 552 2 a9 F X 3@k Y 71 39

= = 21 3 Y UE o 3 3o § weaed
Fz= (FE) 7 9% = w1 8 X 3 U e
I T FH IS ST a5 T X F1 03 ECOES

\;ﬁ&'ﬁo.émﬁﬁmﬁﬁ%wﬁm,
7, X 31 04 759 3R Y A1 02 a9
mﬁﬁ%!_m:X&a?YEﬁfﬁﬁré?ﬂ
TTEA T F 9% 4 @R 6 5w (7o) B =
FATEA B 81 A T 250 Wi 59 (g
ﬁq%uaﬁ‘qﬁawq&ma‘eﬂqxﬁfy

P.T.O.
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£ FuT 240 T R 360 TEE A Imavya
3 @ oA TA W FEA I (HAIEYT) TR
i) T T, TG I, T W ()
srrsrEAl 3% &9 T4 g€ (IER) it e SR,

OR

2 rwoindustry input-output relationship is given below:

iy 1 |1I Final Demand | Gross Output
1 180 |60 60 200

I 50 [100 150 300

Lazbour days | 100 | 120

Using matrix notations, determine:

(z) Gross output required to satisfy the new final
demand of 90 and 120 units for industry I and II
respectively. Also, test the Hawkins = Simon
Conditions for the viability of the system.

(b) If labour available is 250 labour days, is the
solution feasible?

e s di T S LV AT i T J
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(c) Equilibrium prices if the wage rate is Rs. 60 per
labour day. ()

Wa-mw-mmﬁ%ﬁmwﬂ:

3¢ | | | sifaw A mm&ﬂ
! /80 |60 |60 200 §
I /50 | 100 | 150 300

 Raw 100 | 120

aw FEaA (ARTH) ® IvUW WS, A o

(a) TEm | sk 1@ faw w90 SR 120 TEEA G
% wgad e ) W oEE & v sEwmw s e
IqeA Wa ydE, faew @ maedaw & fow
Fifa=a - age W&l @ gasvr @

(b) afe wagd 250 TR ¥R uiw Rae N W W Iwma
2 R = TEE TIUA FEE, I AR wEed 27

P.T.O,
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(a) Find the dual of the following Linear Programmin
g

Problem.
Maximize Z = 8x,-6x,17X; + 2X,
Subject to the constraints
4‘\|+3x:+6.\:3 +x, <= 40
-$|+2x2+3x3 K, <=3
OX,-3%,+7%5-X, == 60

6%, k2%, HAR, = 47

xlsxz. X3, x4>:0

Preafiiea sreR St siqem @1 fegad o diedl
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9

Aftrwaw 7 = 8x,-6X,+7x, + 2x,
AW H AU

4;.~:]+3x2+6x3 +x, <= 40

X, H2x,+3%; +x,<= 5
9x,-5x,+7x,-x,>= 60
6x,+2x, +4x,= 47

XXy, X3y X,>=0

OR

A retired person wants to invest up to an amount of
Rs. 30,000 in fixed income securities. His broker
recommends investing in two bonds: Bond A yielding
7% and Bond B yielding 10%. After some
consideration, he decides to invest at most Rs. 12,000

P.EO,
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in Bond B an

10

d at least Rs. 6,000 in Bond A, 1,
wants the amount invested in Bond A to be . ]leo
ast

equal to the amount invested in Bond B. Wha gp, I
: : u

the broker recommend ‘if the investor wants (

0

L aximise his return on investment? Solve grdphicau
Y.

(6)

s g e PR S R SRR 3 30,000 7
< & qf PR HON A 81 I IX A DA A
ﬁﬁamm%ﬁm%m%:ﬁaqaﬁam?%aﬁzm
ﬁaﬁmm%%@ﬁmmﬁ%m,ﬂzﬁaﬁﬁ
ST 12,000 TR 3R dF= T A F ¥ HA 6,000 T
@mﬁﬁ%mﬁmmmélﬁwﬁm
2 fp e v PR & S AR A A @A PR
A T IR D TR B RAE B G HEAT ey e P
AT W I WRwe R JOEd el wBdl 87 @i
(mfhw) 1 ¥ AW SiSA

(b) Given below is the simplex tableau for a

maximization type of linear programming problem:
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e — e co—

G |Basic |30 [40 [35 [0 [0 [0 |Quantity

Variable | xy | x, | x Sy (S |Ss |
40 | x, 13 |1 (o [1/3 |-1/3]0 i —
35 [x 56 |0 |1 |-1/6]23 |0 |21 -
0 |Ss 5310 o [-23]-13]1 15 ]

~ Answer the following questions, giving reasons in brief:
(1) Does the table above give optimal solution?

(1) Is this solution feasible?

(iii) Is the solution degenerate?

(iv) Does the problem have alternative solutions?
If so, show one such solution.

(v) If S, is the slack in Machine A (in hours/
week), 52 is the slack in machine-B (in- hours/
week) and S, is the slack in machine C (in
hours/week) which of these machine(s) is

being used to'the fl_'“ capacity when producing
according to this solution?
P.T.0.
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_(vi) What arc the shadow prices of the machjp gy

(vii)

(viii)

(ix)

(x)

[f a customer .is prepared to pay a higher
price for product x, how much should the
price be increased so that the company’s’
profit remains unchanged?

How many units of the two products X, and
x, are being produced according to this
solution and what is the total profit?

What is the maximum.you would be prepared
to pay for another hour (per week) of capacity
on machine A, B and C respectively?

If the company produces 6 units of X,, how
many units of x, and x, shall have to be
reduced, if any?

(b) mmm%mwﬁm‘
%ﬁmm%an@%
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0V e w1 Jo [ |- |0 |12
35 X3 556 |0 1 |16 |23 |0 |21
0 S?»ﬁ___}i_; 0 |o [-23|-13 |1 |15
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HET ¥ TR0 o gy Pl T @ I AR

(i)

(ii)

(iii)

(iv)

(V)

TN FRT wifere g HoaT (degm=) <t

87

=1 95 e (dieae )W@Wﬁ(ﬁﬁaﬁ)
37 . -

w1 e (dieaee) SoeRes 27

T D Ao e (Wieqwa @) s 87
uﬁm,ﬁﬁmﬁﬁﬂ%wmwu

afe A W S, (WY /e ¥) ¥ Pfwr 8@
2, B WA S, (W /awmE ¥) ¥ PAfteg 8 2
R C 7T S, (Wi/awE ¥) ¥ PAftrn a7
2, @ @ ReaT (dew) R sgER IR

e R 6 0
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(viii)

(ix)

14

mwﬁﬁ"ﬂ tﬁ’f?ﬂ“!ﬂ#(fﬁ)uﬂt@ BrTe

oA W R WA w7

qR @ WEE X, IR B RY g
W%Wﬁmﬁ,ﬁﬁmﬁﬂﬁﬂﬂmm
a@qaﬁﬂfﬁwwmﬁ'aﬁaé?

o f () F IR x, o x, 2

Y 9 e TRl T SR B o wr

2 3k o @ RN 87

m:m#_q,ﬁaﬂtﬁ.vm%wa’a
M(ﬁm)mmaﬁméﬁq
o FRFT fra EE =YD R 3R
B w? "

R FER x, W 6 T w I @ 2,

| ﬁrxzaﬂt_xsaﬁﬁﬁﬁwﬁaﬁﬂm. .
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A company produces three products, P, P,, and Py
from two raw materials A and B, and labour L, One
unit of product P,, requires one unit of A, 3 units of
B and 2 units of L, One unit of product P, requires
2 units each of A and B, and 3 units of L, while one
unit of P,, needs 2 units of A, 6 units of B and 4 units
of L. The company has a daily availability ol 8 units
of A, 12 units of B and 12 units of L. It is further
known that the unit contribution margin for the
products is Rs 3, 2 and 5 respectively for P, I, and
P,. Formulate this problem as a linear programming
problem, and then solve it to determing the optimum
product mix.Does the problem have alternative

" solutions? If, so find one such alternative solution,

(12)

aﬁiafﬁﬁtﬁﬁ%mAaﬂtB,aﬂtw@ CH 99 I=7,
P,P, ﬁpamwmﬁélml’lﬁwm
# I 29, A W TE T, B W 3 A 3R C A
» THEdl # SETEA Bl Bl IAE P, oW v g @

Seqre 39 A SR B 2 FHEA SR C A 3 g A

P.T,0,
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grasa B B, WG Py Iew W vw wawd @ fy A
A 2 v, B A 6 vl 3R C R 4 ywma o
srawred Bl B FEN F W A W 8w, B o
gl 3R C 3112 Tl W W 9w wE B 3
& e aw WA T R IR @ R g e wit
p.P,. 3R P, & R wm 3,2 3R 5 v B @
ﬁﬁmmwaﬁmﬁﬁmﬁm,eﬁﬂfm
W T I Fspor FeiRe & R R w0k
m%aﬁf@qﬁﬁaﬂ(ﬂ@\m)%?ﬂﬁﬁ,a‘rﬁmw

Aefeqsn faemT (dWieawe) s@ SRR

3.

(a) The manager of a bookstore determines that when
* a certain new paperback novel is priced at p rupees
per copy, the daily demand will be-x = 300 - p2
copies. Calculate the- elasticity of demand at a
price where total revenue is maximum. '

(a) fra=l & T gopm @ WEuw g FuiRa awar ® fn
wa v fiEed AY weE STE S S p
T 2, & 2w W x = 300 - p? Wi BRN Iw
W HAT A D AT iR Bl el Tord HftwaH
2 |
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A firm has to produce 14,400 units of an item per
year. The production cost of each unit is Rs. 5
and the carrying cost is estimated to be 10% of
the value of (he average inventory. It costs Rs.
25 to make the machine run regardless of the
number of units produced in a run. Find the
cconomic lot size. If currently, the firm produces

in the lots of 1,000 units, find how much can the

firm save 1if it produces according to the economic -

lot size. (6)

& wd = wfd o vw ag @ 19,400 TERQ W
IRWEA wT WA B g g 7 IEEE A S T
R 3 9 RAE e wEgd @ W w1 10% B
AR 21 WHT &1 OF IR IS A 25 TR W @G 30l
#, wd A vw A W o R faaA W ofee w e
Bl gEiiaE ®ve aew WA 9 ok adam A, R
1,000 TR & TE ¢ A IJNEA T B, A A LT
fr v farad wam o A 2, aft an sufw s
T gER IWEA A B

RT.0.
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0. the annual world use of natur
Att?® .
ll\‘.\

oy cubie feet. The annual o
<) rillion cubic tec ‘
50 trillio

\sume (his rate remains the sapge T
NN

(i) How mauy cubic feet will e

ONSumeq in
(he next 10 years from ( =9

(i) How long will it take to use a] av

gas if it is known that world re

Serves are2200

trillion cubic feet in the hcginning (assuming
that no new discoveries are Mmade)?

(b) 1=0W.WNWWWWSOW
q{ﬁaqﬁzmlﬁaaﬁmﬁmwmm%aﬁm
a@wélm@ﬁﬁ%waﬂﬁmﬁ'mm
T |

(i) t =0 I 10 T ¥ e W Qe =
I far s 7

(i) @ Svore AW W IR T A R ww
o AR 7w R B Rea e gew A
2200@%@%@2%,@@@&
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For n monopolist, the demund function is

V2200 p with MC = 200 1 25 Determine the

consumer’s surplus ut the price which the monopolist
will like to fix. (0)

0 Wer @ R, wn wem o x - J_}_ﬂ()(),s 2 S
MC =200 + 23, 1 Iuwderenr o aifalee w9 wilre
TR W ARG AIRA KR ywitar A ¢ @ @@ anan

(¢) Find the elasticity of substitution for the production

function:
Q° = aK*°® + bL*S

Also, show that the isoquants generated by this
production function are always negatively sloped.

2. T.0,



o'.-’l

(<)

20

aq o e wlaeans -
yaqrg WEr T A AU )y Gy T o ¥y

Q- ak€ + bL™®

OR

A monopolist charges different prices in the two

markets where his demand functions are X, = 12
P, I SR -
N -Eand X; = 19 ~20 His total cost f:unctlor_x is

C = 150+120x, where x is the total output. Find
the prices that the monopolist should charge to
maximize his total profit. Also, show that higher
price will be charged in the market having lower

(6)

elasticity of demand.

HE TR A Aoy m;amaﬁﬂaaqam%.
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Rl wy o« a
R 3“‘1“ Hn R X, = 19 [ \jﬂ_i X, * )

|5
] RLED QT = 18041 .
20 A A e - 1500120 B, 97
N (S ey (an;jtrtl'e) A e apel w) e waform 1o
W wWNaR ) 349 LIRS al siffrearem e affi
T S W yonfor i fo i ) v A
W INR e g gl @ el f

4. (a) The revenue and the cost rate of an ABC mining

Operations are, respectively.
R'(1) = 12 - 3¢5 and C'(t) = 4 + 17

Where t is measured in years 'jand R and C are
measured in millions of rupees. Determine how
long the operations should continue and what the
total profit will be at end of;_fhe operations?

(i) o @ wE S M R A R/ m:_%l

R'(t) = 12 — 368 3R C(t) = 4+ 115

P02,
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et = 98 F @R R 3% C = == 738 F 5wy
w1 21 Faiia a5 59 =8 52 3% o
T AR FE @ AT I T EH T 27

OR

The-demand function for tvwo commodities %, and

X, in terms of their respective prices p, and p. are

) 0.5p.+3
given by: x, = p 97€ s

0.4p.+ 7
and x,=p,9%e""*

Find the four partial elasticities of demand and
determine whether the commodities are
competitive or complementary. Also, show that
the direct price elasticities of demand are
independent of prices whereas cross-price
elasticities of demand depend on the price of the

other commodity. - (6}
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A NGH 0 e o Rt pels weze Ad p P
Vi % Wk wn iy e e # Bo7 w0 2

7}’ "; ’p) "“'e)‘) :

e A v gy ey A e PnieA AR
W e stk ¥ my pk wem, W R TR
Ahgs e win A1 o A Hu % A 4 AR
N Y A vin ) - wa 78 T B B
u By wx4 ¥

4, (b) A piece of machinery costs Rs. 12,500. The total
cost of operation from the time of purchase to a
time t is given by the function 91> + 161. If the
rmachine is sold after t years, the reszle value is
yiven by the function 4000 ~ 1112, Find the optimum
time for the replacement of the machine.

(h) wfetn % v Gm 41 %A 12 500 7R %1 @023 w9
Y vy yyy ¢ A% WfEE £ FA AmE 9+ 16t 3
9wk ¥ o2 whE N LA W Az e €, R e

P.T.0.
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w il = RO00 117 Moada ) o 9 g

Trown AN WA CATR Y
OR

Jreran

The elasticity of demand of a commodity with

Sp

respect to price is calculated to be -(-; N3

where p is the price. Find the demand function, if
it is known that the quantity demanded is 5 units

at p = 3. : (6)

v & wau ¥ @ w W@ W @ @ @ e
5p
(p.,3)(p-

T Wierg, afe g8 g ot Wien @ R W e W A
p=3 W 5 T3 B

37 & S %, S p e s e

5. (a) A debt of Rs. 8,000 due 2 years from now and
Rs. 10,000 due 5 years from now is to be repaid
by payment of Rs. 2,000 in 3 years, a payment of
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Rs. 5,000 in 6 ye

end of "

4 years, If the interest rate is 7% p-i-
compounded goyi-
payment?

ars, and a final payment at the

annually, how much is the final

(a) a;ooo-ﬁqaimaﬁ-émm.azmam%qaaﬁ?
10,000 ¥ w1 wvr g A 5 @t @@ W B ol
T 3 W A 2,000 T B pER, 6 A A 5,000
T EE, 3R 4w R i A WA
IR T R o A o] - T @ 7%
o a9 2, s e s wRR

OR

A certain bank offers interest at the rate of 6%
p.a. compounded quarterly. A compcting bank
cor‘npouhds its interest continuously. What rate’
should the com'peting bank offer so that the

effective rates of the two banks are equal? (5)

ﬂéﬁ%ﬁ%uﬁfaﬁaﬁa%maﬁ%wm
Rl 81 U@ g 9 SO AW A WER 9T B

P.T.O.
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wfaendt dw @ FE ® & w6 aie afe Gy
d & R R T 87

(b) Suppose a machine costing Rs. 90,000 is to be
replaced at the end of 8 years, at which time it
will have a salvage value of Rs, 12,000. In order
to provide money at that time for g new.machine
costing 20% higher than the price of the present
one, a sinking fund is set up. Find what amount
should be set aside at the beginning of each
quarter, out of profits, for the sinking fund, if the
fund earns interest at the rate‘ of 8% p.a.
compounded quarterly.

(b) = AT f& v w7 N 9 = 90,000 2 Py
8 W % Fd ¥ Fown W (whenRa) 2, v ww
A R [T T 12,000 B T s ¥ e
N FPE F 20% IUF AW TR T e D R
T gy [ & wren & S 2 i sw e
U IT B WH| AW e owRde femd o
LA #, 9 F | freht ofd wRw A @ Rie swm
W I Ay, A we X 8% wh AW e ety
N R A AR Bar 2 ’
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Har |

Find

\

rcdccm.c‘_.,purch”'Sc price ‘'of Rs. 5000 bond

premiy ole at the end of 10 yecars at 10%
, 1 1800 Day'i_ng annual interest at 4%, if the

yield rate :
' ¢ is to be 6% p.a. effective. (5)

E.‘SQUU-%afgmaaaimmﬁm’ﬁwﬁu}
mﬁm%mm‘jﬁmmm%,uﬁmﬂé“u
T ¥ o 2 sk 4% w afiE ww R
PTEE B @ 24

(c) An asset depreciates at the rate of 10% p.i. fot
~ the first two years and then 8% p.a. for the nead
three years, depreciation being calculated vn the
diminishing . value. If the cost of the assetin
45,000, find the average rate of depreciation and
the depreciated value of the asset at the end of
the fifth year.

(c) v wRea ¥ v A T H Fw 0% W W RN
¥ 3k fa o fT Ad D Bre a% WA AR
Wﬁw%nmﬁ(ﬁﬁﬁﬁm)@qmé

P.T.0.
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o ) o O RUAR qRaMRY W) wwre 48,000 ol
R, A wiad wd W N yeawr o) slea v ol Ry

SN W Wi
OR

Mr. X borrowed Rs. 15,00,000 from bank and
decided to repay it by equal quarterly instalments
over a period of § years. The bank charges interest
at 6% p.a. compounded quarterly, Calculate the
amount of quarterly instalment, Also, find the
interest and the principal paid in 15" {nstalment.

(5)

e vaw A d@ Q15,00,000 WA IUR R 3k § @@
ot gty ¥ e R gRw arr W e w W
forem de vy @l 0% Remdt awgfa oY w ¥ = ast
e 1 AR v @ o AR e sismar, 159
e A g W st SR IEUE W WR

(18000)
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2. wTATA = @ A fawfiE #

3, mQﬂ?ﬁ?mEﬂfifﬂﬁﬂﬁﬂqwﬁ}:‘r{,aﬁqrﬁag@'m
Bl T |
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SECTION A

I.  (a) What is the importance of fiscal functions of the
state with respect to allocation distribution and
stabilization? Explain. (9)

(b) Discuss why imperfect competition may Jead to
Parcto inefficiency especially under monopoly
market structure. (6)

() e, fammo A ferfiereo & w@y % wod % wEeayd
fasim = @/ 87 wgren &7

() e Y o gy e faim v @ g
AAR FEA] 4 A%F e FGHAT T AT AFA
B

2. (a) What arc externalities? How do these lead to
market failure? (6)

(b) Discuss with the help of a diagram, the gaing and
losses to the society from moving from & socially
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inefficient level of output to a socially efficient
level of output in the presence of negative
externalities. Is a zero level of externality socially

desirable? (9)
(F) R T 27 A qoR 6 e S SR DY a4
&7

(@) THRE S & Sutdly ¥ T S g §
¥ I IUET TR A GO €9 F I & GEH
TR 96 W ¥ B 9 AN 3R B @ U RE
H geEe ¥ e 1 F SR w1 T E®W
gt ®9 4 dioad 27

3. (a) Many government programs both redistribute
income and correct a market failure. What are
the market failures associated with each of these

programs?
(i) Social security
(ii) Public elementary education (6)

(b) ‘In dealing with a negative externality problem,
Pigouvian tax and Pigouvian subsidy schemes bring
an equally efficient outcome with different
distributional consequences.’ Discuss. Mention two
problems associated with the Pigouvian subsidy

program. (7+2)

(@) o TWHR FARA I FFEART F T R Ao

= fawerar I 3% A 21 R TRE I @
SR & ey w4 87

P.T.Q.
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(i) wwforen GRE
(ii) e AR e

(@) v e Werl W ¥ Fue e daw
3R T aferd Ao fft=r faaror oo & ary
T 9 ¥ weW IRomw A B AR ) e
easl FEET ¥ T A WS w1 Ieokd S|

4. (a) What is tax incidence? What are the various
alternative concepts of tax incidence? (7)

(b) Explain using diagrams how introduction of a tax
into a competitive market creates a wedge between
the price that buyers pay and the price that sellers
receive in the case of (i) Unit tax (ii) Ad-valorem

tax )
(F) o ¥R o1 87 X R A AT delas smamome
7 87

(@) @l =1 IwEnT TR R W fF R B (i) gfe
o 3R (ii) v3- o 2o & AR A wieeae e
¥ X YEHT DA BV WIEH D A e
IR fahel BRT Ul & W el FRE @ 99 U 3R
der @t 2l

5. Write short notes on any two :

(a) Pareto optimal conditions for the provision of public
and private goods (use diagrams) (7.5)
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(b) Utility possibility curve and welfare maximization

(7.5)
(¢) Role of coverage and time period in the distribution
of tax burden ' (7.5)

=l qt W O Rorh fifaw

(F) wdoE ik ol awgsl @ wEuw & forw TRer
T Ruftar (R &1 swam &)

(@) SUAREr e 9 3R e AEH T

(1) | R & faww ¥ =fq &3 IR F@-s@fy i
e |

o

6. (a) Write down the major fiscal functions of a
government in an economy. Do you think that these
functions often overlap in practice? %)

(b) What are the instruments of stabilization policy
used by the government? Discuss. (6)

(%) v sigaen ¥ WaR & we By w3 a i)
T YR oW & fF A 1 R F IR R -
B 27

(@) WHER W IWAN H W e Rl Sy @
¥ IUFHWT B T W

P.T.0.
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SECTION B

7. In the first half of the year 2020, when global crude
prices remained below $40 per barrel on average,
India’s retail prices on pclrolcum, ol and lubricafis
(POL) products remained high, What were the reasons
behind this? How has the relative share of Central
and state governments in the revenue space provided
by POL products changed from 2011-12 (o 2019-20

before and after devolution of taxes? (15)

¥ 2020 Ft UEel SAE! A, T Maw T A 9 W
AT 40 TR WY KA ¥ A @, W, J9 3k e
(AT ) I W HRT it G DR Iod a4 @1 T
TS T FROT A7 T B TR A TE IR q@ F 2011-12
¥ 2019-20 T NI IR R W Fag U qoRE T
¥ 3z ok T wER @ W Rl # wew w7

8. Discuss the gains from the implementation of Goods
and Services tax (GST). What are the distortions

associated with GST? (15)

T W W W (Showdt) & farraa @ B A A
R i Sewdt ¥ @ fagher @ 87
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9. Consider the follOWing information about an cconomy :

C =100 + 0.5(Y-T)
T =100
G =200
I =100

Where C is the consumption function, G denotes

government expenditures, T is taxes and I is planned
investment.

-

(a) Find the equilibrium level of output (income) by
way of calculation as well as graphically. Also
find the government expenditure multiplier and the

" tax multiplier. (6)

(b) Define and derive the balanced budget multiplier.
If the government increases its expenditure and
taxes by 100 units each, what would be the impact
on the equilibrium level of income? Calculate. Will
it remain unchanged? Why or why not? 9)

sefeyaeer & ar ¥ fAEfufad sFe | R &)

C = 100 + 0.5(Y-T)

T = 100
G = 200
I =100

& C S wee 8, G W =@ w i 8, T W

T B
2 sic 1 Frfom e # P.T.O.
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10. (a) Discuss the role of Finance Commission towards
cooperative federalism and how it can remove
the imbalance in regional development in India.

®)
(b) Explain the difference between :

(i) Fiscal deficit and primary deficit

(i) Revenue deficit and effective revenue

deficit (3+3)

(%) wEw Goae 3 wRy e R S sfi 3R T A
i g R ¥ sge S e T HC aAd g &l
fagw S
(-(a) F%%ﬁﬂwwaﬁ
(i) TS et ik wrafde e
(i) s wrer ik W worEE WA
(6000)
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651 :

.  What is GST? Explain the structure of GST. Also
discuss the rationale of GST, (10)
OR
Mr. Aviral is a supplier operating in Gujarat. He made
the following supplies in the year 2021-22.
Sr. No. Particulars Amount
I; Supply of taxable goods 2,00,000
2 Supply of Exempted goods 10,00.000
3. Outward Supply of goods under Reverse Charge 3,00,000
4 Supply of taxable services to its head office 50,000
' in Gujarat
S Supply of Non-taxable goods 50,000
6. Inter-state Supply of Goods 3.25,000

Answer the following :

(a) Compute the aggregate turnover of Mr. Aviral.

(b) Is Mr. Aviral liable to take registration under GST
and Why?

(¢) Would your answer be different if Mr. Aviral

would have beep Supplier operating in Nagaland?
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WoEe w1 B 7 Wewe & T a el Wiy | SeEc
7 e W = iR

at

A S T A S v e 2 SR
aq 2021-22 ¥ Fefaiad smofd o |

FH X Taqa=ur : R

! &R A a3l 3t Sgfd 2.00.000
2 e W axge I gd 10,00,000
3, fad 9 & ded Wid @) W@ Mgfd | 3.00.000

ToRId H 39& YU iy &l 30,000

Y g el @ o

5. iR-aX dm aegel @1 Smyfd 50,000
6. O/ @1 RIS Mg 3.25.000
frfafag &1 I Al

(=) s aifaee § Fe A SRR {6

(a)wﬁaﬁm@wﬁ%mq@wéﬁ%%q
Seerd & o @ ? |

() uﬁﬁaﬁﬁmﬁéﬁwﬁamﬁﬁfaﬁa‘tw
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5 \Write short notes on the following : (20)
(2) Mixed Supply and Composite Supply

(b) Composition Levy
OR

Determine the Time of Supply in the following

cases : (20)

(a) Mrs. Jaya supplied'gobds to ABC Ltd. on Reverse
Charge Basis.

Sr. No. | Particulars Amount

1. Date of receipt of Goods by ABC Ltd. | 12" May 2022
5 Date on which ABC makes payment | 29" May 2022
‘ and records it in books or accounts
3 Date when payment was debited in | 30" May 2022
ABC Ltd’s Bank account
4, Date of Issue of Invoice 4™ May 2022

(b) Ms. Surabhi is an unregistered person of Madhya
Pradesh travels from Chattisgarh to Delhi by
Deluxe bus. The bus is owned by Magic Travels
Ltd. Determine Place of Supply and nature of
Supply with respect o applicability of tax.
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(c) Sachin Apparels Ltd. is a registered person of
Gurugram, Haryana. it availed services of Blue
Dart Delivery located in Delhi for transporting

- clothes from Delhi to Kolkata. Determine Place

of Supply and nature of supply with respect to
applicability of tax. |

ﬁw%ﬁaaqz"érmﬁw‘ﬁm‘f%ﬁ‘w:
() WE safd sk a@ge s
(@) mﬁiﬁﬂaﬁﬁ'&t
=
frfofae wwet & mafd =1 T PR S
(%) s s ¥ Rad 9o & R W = fofies @
W_a?r:ﬂriﬁiﬁl

®H o Razor arte
. | udif fafaes R A ot wif &t AR |12 7€ 2022

adE @ TR e B § ek |2 TR 202
2 ?@?gﬁmmﬁ I

¢ adE vE R RS & % @n |20 T 202
3| A yrar 3fae faar mar

2 | gem o’ $E 3t ol 4 T8 2022

P.T.0.



651 6

) ﬁvﬂﬁﬂﬂmm?ﬁwmaﬁﬁ%ﬁm
g TEEE A fes & ann @ £ 1 7 4w
mﬁﬁ%%wﬁawémmmam
3 g 1 A SR S oyt i i

(

() aRm s fafce o, siamn w1 v deigd
af 2 | 28 il § Ficihel 9 &gl & ikdaed
2 P el ¥ fad =1 o¢ Refiad & @ A
Sem@ | IR FAE & waa ¥ iy @ e 3R
a@ﬁaﬁﬁfﬁaﬂﬁ‘mm:

3. (a) Compute the amount of input tax credit admissible
to Prakash Limited, a registered person in Delhi

in respect of goods procured in the month of May

2022.
Sr.No. | - Particulars GST
] Cement used in construction of an
additional floor of office building 50.000
2 Packing Jars purchased 30,000
3 Goods received from X Ltd. after making full 40000
pavment; tax is not yet deposited by X Ltd.
4 Goods destroved in fire 35,000
. Equipment used for testing quality 45,000




fi

Minteninl used |
v ~ l'" i "
AU wits ""hﬂ:ﬂ}l‘:”ﬁ of office bulding, the
he said company D IOficand foss Accoum of -
B 40 1 N)
Stabonery purchised " _ ( };;,
S N J;
Coods receryed ; e S anel
— '“‘_‘"i‘_&iﬂi used 10 mak ¢ 1axable goods 20.064)
Mutar Vehcle
el with scating capacity 14 10 be use
for transportation of t_:“]",](lfycltt . 0 be wsed 1,70,000
S0Itdrinks 10 be used in canteen 25,000

(b) Explain the provisions with respect to Reverse

charge Mechanism in case of services,
(10+10=20)

OR

(a) Specify which of the following activities/

transactions fall under Reverse Charge Mechanism
or Forward Charge Mechanism,

Br. Nu_.

| | Supply of wrvicﬁf l'mm_hl

e 4

Particulars

?p«)nfx:rship services pven by a college (mon-body corporate) 1o
feeliance 11d.
of Consutancy Services from a regstered dealer in

di(Unon gerrtory ) 10 a dealer in Lucknow, Uttar Pradesh

Supply
Chandiga
(S1ate)

e e —_ S ——————— ————

fung Kong 10 India

e e

e — —

:;;[-llﬁ}' of Silk yam by manufacturer 10 Manufacturer of Silk

clothes. i

= il —— - —— .+ — i — . e e " e
-

2. 1.0,
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Supply of services by an advocate (o a business entity (whose
5 aggregate turnover has crossed threshold limit of 20 lakhs/
: 10 Lakhs)
6 Sponsorship services given by a College (reglstered non-body
. corporate) to a Sole proprietorship.
7 Supply of food cans by a registered shopkeeper to ABC Ltd.
Services provided by the registered supplier, Mr. Akash (cab
8 owner) to DEF Ltd (registered under GST). Where Mr. Akash is
not availing ITC. Output GST is charged @5% by Mr. Akash.
9 | Services of job worker (registered) supplied to its Principal
(registered)
10 Services by recovery agents (Registered) to Banks(Registered)

(b) What are the conditions to be fulfilled for availing

Input Tax Credit?

(F) w2 2022 & WM ¥ @R W N B F9w X B

¥ v ol afew v e @ wed e
2ag wfec & A A ToEr A |

A | Particulars GST
| [P Y & iR qa & o §
Ugad e 50,000
2 [&Rier T OfdT SR 30,000

3w . ey fafes grr enft 9@ @w S

U YTdH & & a1 U9l [oies § W 40000
TRl far mar R

ST H 9% g3 IMH 35,000

UG WRIGU & T S9aRT [hC 9F ard

45,000
SRCEY
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7 Eﬁ?ﬂ W 40,000

6,000

QU 5y Ty 20,000

S -3 9 ¥ fog gRm 170,000

10 B F @ e a@ aa 9

25,000

(@) ¥l & A ¥ Rad =red Aafied & waw F wEuE
& AR HIfTE |

k21

() 5 e o P 3 & - /A
Rerd <} A an e ek A @ s o
g

wmH TSl Taazor

1 A RS 3 & Faw (AF-a1d! $RARe) N1 & 7]
wWiFERRM Jard
2 %, SW U () # UF W @I d6Ne (Fu W
. _m)ﬁwmmﬁmmsﬁaﬂm '
3 Wﬁuﬁﬁaﬁﬁmmaﬁm |
4 yqu ¥ @uS & i B FEfar gr W F i @ sy
7 79 &N (@ aRie g @1 aael 31 S
(ﬁmgmmﬁznmx 10 9 $I W H IR P
T ?)

jqdqr o)

-

P.T.O.
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Write short notes on the following s (7.347.3«18)
(1) Tax lavoice
(b) Electronie Credit Ledger
OR

What are the ditferent types of Offences Under GS1T?
Explain the provisions pertaining to penalties regarding
these oftfences. (13)

R=fia w alrg ol il
(w%) ¥ amm
(W) WwRRE MR Jmw
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(a) Write short notes on the following :
(i) Baggage
(1i) Indian Territorial Waters

(b) Product X was imported by air at CIF price of
US$ 1,00,000. Freight US$ 5000 and insurance
US$ 4000 was paid. The banker realized the
payment from importer at the exchange rate of 74
per dollar. On the same day, Central Boar_d of
Indirect Taxes and Customs notified the exchange
rate as 73 per dollar. Find the assessable value of
the product for the purpose of levying duty.

- (5+5=10)

OR

Explain the following types of du;ies A
Custom Laws :

(a) Anti-Dumping Duty

(b) Safeguard Duty

P.T.O.
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() fealalaa W aldra ey fad
(i) &
(i) v wRfEE o

(W) IeE TF W 1,00,000 AR e D AawEH T
W gard A ¥ W fHRA wn an %e goE $ 5000
3R A qTE $ 4000 H A T v av | dER A
FAEE A 74 SR Ud e Ht fafmm w @ e
wre fman | I o, Sdl seaw @ s @R e
[ ¥ RAfvm w73 W SR @ w0 A st
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(a) “Stock Exchanges play an important role in the
Indian stock market”. Comment. (5)

(b) The return on security X and Y under four possible

States of condition are given below:

States of condition | Probability | Return of X (%) | Return of Y (%)
Recession 02 -8 -6
Average 0-4 9 10
Good 0+3 14 18
Boom 0-1 18 28
Find

(i) Expected return on security X and Y
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(i) Risk on security X ang b

(i) Can it be concluded that gecurity X is more
risky than security Y9

(iv) Calculate the coefficient of corrclatlon
between X and Y9 (10)

OR

(a) Discuss any two :

(i) Sensex and Nifty
(i1) Depository System
(1)) No investment is risk free (5)

(b) Mr X invests Rs. 450 in a corporate bond (Face
Value Rs. 500) selling for Rs 450.In the coming
year, the bond will pay interest of Rs. 25. The
price of bond at year’s end will depend on the

level of interest rates prevailing at that time The
following scenario is expected.

Interest rates Probability Year end Price
High 03 425
Unchanged 0+4 445
Low 0+3 475

N P.T.O.
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Treasuray-Bills provide a sure rate of retur
49%. Calculate the HPR and expected rate of return

and risk premium on investment. (10)

n of

(3r) ot Tt MR IR AR A T Heed o R
e 2 oot s

) T e Rufad @ @ed wRefy X R Y W Red

= = v 2

=afa STiAsar xwﬁz-r’f(%;) Y &1 RET (%)
Al 0+2 <8 -6

Rl 04 9 10

ASET 0+3 14 18

s 0-1 18 28

fAerlee

(i) Ry X 3R Y W snftm Red
(i) wRefe X R Y w Sifes

(iii) =1 ge Fsed Faer s Ewar B & afeela X,
ey Y ¥ it wiRaw s 27

(iv) X 3R Y = Siw geday & N I AT
R ?
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(i) == Rk
(i) TRufed Reew
() HE T R g 2
=) ﬁxwovsﬁ'&%ﬁrﬁita‘irg(aﬁﬁwgsoﬁmﬁ)
H 450 TR w1 PR =@ ¥ Y O a9 ¥, @i 25

T T AT M 99 = (9 F e = <9g 59 999
T = 20 & =R W ek wum et

qReza smfem 2-

el &) | uiAsar [ad & i A
HIId

I 0-3 425

_Rr 0-4 445

TH 0-3 275

Is—fam 4% & Rt &t fAftsa «® wem =@ €
fRy | TaasR 3k ReT = snftm == sk sfe=w
ﬁﬁnﬂaﬁ’r_maﬁﬁﬂm
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a6l
. (&) Seale the various properties of ¢
) jescribed by Malkiel. °ad .,
Ue
£ : . o (s)
(») The following information is avajjay;
4 . " in .
of a bond - fespee,
fFace Value — Rs. 2000
Coupon Rate — 8%
Time to Maturity — 18 Wears
aazrket Price — Rs. 2280

Callable in 8 years — Rs 2200
Find out YIM and YTC of the bond. (10)
OR

(z2) Discuss various kind of risks involved in bhopgd

®)

invesiment.

(b) A company has invited applications for issue of
bonds of the face value of Rs. 1000 redéemable
after a period of 6 years at 10% premium, with

variable coupon rates as; 9% for first two years;
10% for next two years and 11% for remaining

two years. The company proposes to price the
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”
1ssuc so as to yield g Compound return of 12%

p.a. to the mvestors.Determing the issue price of
the Bond, (10)

(3r) Wi W Al i T R A o @ A
o)

(@) mﬁﬁuﬂﬁﬂﬁfﬁﬂamﬁmmﬁ:

SR e - T 2000
T X - 8%

IRuFaan o1 T - 10 af
AR T - T 2280

8 U W H T A - 2200 TR
T @ YTM 3R YTC fafel
A

(a)aﬁﬁ%mﬁmﬁaﬁﬁqmé}ﬁrﬁaﬁfﬂtﬁ?
EaIEI

() T FE Y 10 W D R W 6 qW 0 R s
2 e A9 T AR 1000 TR HE I F A FY
B R e st e ¥, Tl wRad e

P.1.0.
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A B SR e A Al @ R 9% IR Q) gy W
fig 10% 3R WY A wdl & fg 1% 1w WY oy
e PERT T owe A Ay W e fy R
for PRl D R 120 W IR SR gy
fr W WR| W W owY W PAuiRa Wi,

(a) “The best way to evaluate equity share 1S that
based on Dividends”. Examine this statement. How

3.

would you value the shares on which no dividenq

is paid? (5)

(b) A firm has paid dividend at Rs.12 per share last
year. The estimated growth of the dividends from
the company is estimated to be 5% pa. Determine
the estimated market price of the equity share if
the estimated growth of the dividend (1) rises to
8% and (11) falls to 3%. Also find out the present
market price of the share, given that the required
rate of return of the equity investor is 16.5%

(10)
OR
(a) “A technical analysts places too much of emphasis

on the past and present level of prices and demand

and supply”. Critically examine. (5)
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(b)

9

A Company has been BrOWIng at g rate of 18%

Per year in recent years, The abnormal growth is
expected to continue for another 4 years, then it
1s likely to grow at the normal rate of 6%

| p.a.
The required rate of return on the shares of the

investment co 1ty i - ivi
mmunity is 12%, and the dividend

paid per share last year was Rs.3. At what price,

would you, as an investor, be ready to buy the

shares of this cOmpany now, and at the end of the
year 4. (10)

Y I T A [T DY B T | A O
& e wmr 2?7

T W A o af 12 o v w9 @ ¥ e
H EE A 81w ¥ wovm W s gfe
5% Wid 9 B o FAE 71 IREA IR w1 A
TR e FuiRa Fife ot eovw <% s ofa
(i) 8% T &% Wt 7 3R (ii) 3% 7 AR W 2
AR T THA F9R o9 T A ARG, T8 @A g
& B R @ Red ot anlie w 165% B

P.T.O.
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(37)

(=) wﬁm%ﬁﬁm%ﬁﬁ?ﬁwﬁmﬁ
21 s 9fE e 4 anl g o w19 S=he
2, R TT9 6% Wiy af = v = F == =5
T 81 AT vgem @ A W Re ¥ 9 swawwes
= 12% B, 3k o af afy w3 =9 = e
=T WA &ar T A 3 v A @ w9 X, ==
FE ® TR T IR DY B g N e S
oz @Oy & fow SR dan

4. (a) Differentiate between Security market Line and

Capital Market Line. )

(b) An investor wants to invest in two shares, which
have different rates of return but same probabilities

for set of return.
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Economic Probability ~ Return on
conditions Shares (%)
A Ld. B Ld.
Expansion 0.2 40 35
Boom 0.3 31 40
Recession 0.3 Y 12
Depression 0.2 15 13

What shall be risk and return of the portfelio if

total investment is divided equally in each.

(10)
OR

(a) Mutual funds is an indirect investment. Comment.

(5)
(b) Given following information :
Portfolios Expected Risk (Standard
Return Deviation)
‘ A 30% 28%
B 22% 21%

C - 20% 14%
It is further given that return on market index and

B. 1.0,



risk free asset is 19% and 10% respectj
standard deviation of market jndex is ]4(;01_)’. The
of the portfolio are efficient and inefficie"' Which
basis of CML. Nt on the
(10)

RS AHE T 3R Dfieg

RS- T R E AT Rt & e B g o
FHEAG 2

A Ltd. B Ltd. Ret (%)
Expansion 0.2 40 35
Boom 0.3 31 40
Recession 0.3 21 12
Depression 0.2 15 13

i wa Faw A TAE § g w1 9 fewlom faar
T A VERRA F AR I ReF =@ Bm

0

(%) “ﬁﬁ‘?ﬁ?wmw-@lﬁwﬁaﬁml
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40
) frfefas SHaER & g 3.

Portfolios Expected Risk (Stand
SK (Standard
Return
Deviation)
30% 289
0
2 e 21%
20% 14%
[¢]
TE T TR R arew THF s ARew =

0% B AWK qEramicn
& S T 4% R o @ HER R -4
fEREE I SR @ @

5. (a) What do you mean by “Security ombudsman?

Under what circumstances an investor can lodge

a complaint with security ombudsman?

(5)

(b) An investor purchase two month call option of
100 shares PICKQ Ltd. At a strike price of Rs. 40
per share on paying a premium of Rs. 3 per share.
Find his expected gain or loss per share and also
the total gain and loss if the actual price of the
stock on the exercise date is Rs. 30, Rs. 35, Rs. 43,
Rs. 45, And Rs. 50, Also show graphically.

(10)

P.T.0.
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OR

(n) What do you mean by Investor Protection, p 1
* “Xplain

the role of SEBL in' this regard,

(5)

(b) A Mutual fund accumulated Rs. 20,00,000‘ by
issuing 2,00,000 unit in the beginning of 5 financja]
year. It invested Rs. 18,00,000 in the Corporate
securities whose present price and the price at
which mutual fund invested is given alongwith the

return generated to the mutual fund from thege

securities.

Investment Value at Value at Income
the beginning the end

Equity 7,00,000 8,50,000 1,20,000

Debenture 9,00,000 9,25,000 1,05,000

Govt. Security 2,00,000 2,05,000 15,000

The mutual fund incurred an expense of Rs. 75,000

during the year. Find the NAV of the mutual fund

at the end of the year. (10)
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a1

o 9@ ¥ a9 = geE o1 39 Esy W aal ol
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A wese A A s A R g
Aad 7,00,000 8,50,000 120000
fadr 9,00,000 9,25,000 108000

wad WA 2,00000  2,05000 15000
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B WO W W Ry s it
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(1) Discuss the role of auditors in effective corporate
governance, in the light of expectations built up
from them because of various corporate scandals.

(8)
(11) Explain any five types of Audits. (7)

(i) R =i el & wrT I e B
A A, IR wARE wET ¥ $ifRe 3 g W |
I g

(ii) ﬁwﬁﬁam%aﬁﬁa,aﬁwﬂﬁraﬁﬁm

OR
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(i) Highligp, the importance of public Company
Accounting Oversight Board (PCAOB) and
Nationa] Financial Reporting Authority (NFRA).

(8)

(i1) Explaip the difference between Internal Check
and Internal Control. (7)

(i) ool et Srar Peor (Tesid) 3k T
ety RAEn it (Terewame) & weea Wy
EUE 1]

(ii) Tes W 3k smaRe Paaw @ 99 s W
FHifore

2. (1) Explain the differentiating features of various

Corporate Governance models. _ (8)

(i1) What is the role of Nomination Committee? (7)

(i) = Fiate = \ta @ fves fAdwas
=rel g

(i) e aRR A v w27

P.T.0.
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OR
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(i) The Regulatory Framework of Corporate
Governance in India comprises of both the Ministry
of Corporate Affairs (MCA) & the. Securities &
Exchange Board of India(SEBI). Highlight some
of the measures taken by them in the past for

good corporate governance.

(8)

(ii) The Kotak Committee recommendations addressed
certain core issues of Corporate Governance.
Discuss. (7)

(i) wra X @Re yoET @ Raes o= d RARe 9
W¥aew (TE) o W whife sk R 98
@R) AT wiRw 21 7S FARe wET ® o s
¥ I T v 0§99 Wy sifer

(i) wew qRfy F AERM 3 AR T D FS TH
& W waE R v AR
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3 (1) Why Should a company have a whistleblowing

Policy? When is whistleblowing unjustified? (%)

(1) "Sharcholder Activiain in India is still in IS

Miancy™, Critically examine this statement, (7]

(1) B s o) framsisn 9 o ad fEe?
Rewasiyn wa sefm wward 27

(i) ““wRa A Savures afaa s W s wrhen s@e
¥R T wu @ e A #f

OR

AT

(1) Who is deemed to be an ‘insider’ in Insider
Trading? Why is it considered unethical? (8)

(i1) “The role of credit rating agencies is dubious”.
Explain. | (7)

(i) zwamee oM ¥ B ‘TR’ W oW 27 R
FARE A w1 e 87

P.T.O.
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O

(i) o Wn R o) wfmit ulda R e Mo

(1) Explain the Fraud story involving Punjab National
Bank (PNB). (8)

(11) What are the main elements of the Sarbanes-
Oxley Act? (7)

() oo A ¥ (Ged) A q@ g f e
* = HRw

(ii) aﬁm—aﬁwﬁ‘rw%g@'aﬁrwé'?
OR
- a

(1) Mention various common governance flaws of
collapsed companies. - (8)

(ii) Summarize the OECD Principles of Corpbrate
Governance.” (7)
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() = & a0 wafedl & Ry awr s dad 2
W I FRw

(i) =fede ¥ @ WS Rard # @dw ¥ wegd
| it

5. (i) Explain the concept of:
(a) Corpo'rate Philanthropy (4)
(b) Corporate Sustainability (4)

(1) What is the difference between Consequentialism
and Noh-Consequentialism. - (7)

(i) fefofen smurom &t e iR .
| (a) WRe Rwr
(b) =dRe Remar

(i) wRomER R R-wRIEEE @ W dR T R

E.TQ.
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O
swren

(1) What are the principles of Business Ethics™ Eaplais

3

(1) What are the provisions of the Indian Companics

n

Act, 2013 on CSR, (7)

(i) e Hww @ few = 37 @R

(ii) doasR & gaw A W w0 sfafE, 2008 F
wau w1 7

(9000)
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of this question paper.

"
2. Attempt any five questions out of six questions,
3. All questions carry cqual marks,

4! Answers may be written either in English or Hindi:
' but the same medium should be used throughout the

paper.

A . .
L]
+ "t "

1 mm-.w%ﬁa%amﬁvmﬁu?ﬁamwm

afgmr‘q?ﬁ’rm I
P.T.0.



N

A
4\

] ]
. 1\
.

'n

l ‘

)

I

v e

a010° < e i g
R AR Ny,

RUUTR S IENINE DR C

T T~ T AR WA R Al s e ) R, A
W I W NEH T W Dl |

\

y ) - i
(2) What is ADR? How can mediation help.in .cnsy
resolution of consumer complaints? (8)

(b) When is packaging said to be_det®htive? What
are the measures taken W§ the government for
regulating it? | (7)

| OR

() Briefly explain the stages in the consumer buying
process. Do all consumers pass: through all the

e \
stages in buping, say, toothpaste or a new oar?

(8)

(b) Discuss the nature of probloms faged by online
_consumers? , (7)

‘(i!‘)‘-Mcht’ibn?f‘tlje_‘ol\:jehtives and sdope of the Consumor

Proteotion Act, 20197 ' (8)
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%) Write about right 1o safety, right to Information

and right 1o be henrd avallable to Indian consumers
under CPA, 20197 (7)

OR

(2) Describe the composition and jurisdiction of the

State Consumer Redressal Commission under CPA,
20197 | (8)

(b) Mention any legal case on medical negligence
decided by the Supreme Court/National
*Commission? (7)

W'ho can file a complaint? What is the limitation period

for filing a complaint? Explain the various reliefs
\

Available to the consumers under the Consumer

Protection Act, 2019? Also mention briefly how a

.consumer can file a complaint in a District

Commission? (15)

OR

'('-a) Discuss in brief the Advisory bodies ungder the

Consumer Protection Act, 20197 (8)

[]

(b) Mention the composition and jurisdiction of the
State Consumer Redressal Commission? (D

P10,
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Ombudsman? oty I the Insurance
' f 8)
(b) Bxplain ASCI £ I‘OIe in . curbing misleading

advertlsemcnts?
A T i o Mentmn 1t8 code of conduct?

’ (a) Llst down the main features and objectives of the

BIS Act 2016'? Also gwe examples of two products
under mandatory cemﬁcatlon scheme? (8)

,.*- : )

(a) Descrlbe the objectwcs purpose and salient
features of the Compennon Act, 20027 (8) .

Y. e v 75, Tk s‘ 1..., .. ‘_i f"'.

(B) Write - about the hallmarkmg m started by
g - the BIS for quality and standardisation of gold
~ jeweHery? ' 7)

(a) Dlst:uSS fhﬂ‘ ﬂmctiomng of Competltwn Comrmssmn
]fl Indm? I grdigiabe 5 s R | (8)
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(b) What oaro consumer organisations? Explain the

functioning .of any two major consumer
organisations in India? %)

6. Write short notes on any two ! (15)
(a) MRP-a dccc].).tivc price
(b) Central COHS‘-.“PET'Protcction Authc;rity

(c) Banking Ombudgman

(d) RERA ™~
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